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English Language 

Direction (1-10) Read the following passage carefully and 
answer the questions given below it certain words are 
given in bold to help you locate them while answering 
some of the questions. 

 
 Water is the very elixir of life, a precious commodity 

gifted by nature. Its worth is known only when it is 
scarce. Thus, it is essential to conserve water. 
Keeping in mind the Supreme Court’s ruling that 
“natural resources meant for public use cannot be 
converted to private ownership,” a few States, 
including Chhattisgarh and Kerala, which had planned 
to sell river waters on a commercial basis to 
industries had to abandon the proposal. 
Similarly, leasing out rivers and reservoirs for fishing 
or other commercial activity too had to be put on hold. 
Privatization of water supply is a sensitive issue, as 
also the price charged for water consumed. 
About 90 per cent of the water available goes for 
agricultural and industrial use, thus leaving about 10 
per cent for human consumption. Changes in 
agricultural practices could help conserve water. For 
example, the use of sprinkler and drip irrigation can 
reduce water consumption by over 30 per cent. Using 
drought-resistant seeds will ease the water burden. 
Instead of growing water-intensive crops like 
sugarcane, farmers are switching to alternative 
agricultural and horticultural products which demand 
less water. 
Industries are seeing the advantage of changing 
processes to make them less water-intensive. A 
recycling plant at the Bangalore railway station reuses 
water after proper cleaning, thus effecting savings. 
Recycled water is being offered in the Bangalore 
industrial area at a lower rate to encourage more 
industries to opt for recycled water to save costs and 
conserve water. Moreover, some of them have 
started recycling to reduce water consumption. 
A city like Singapore, which imports water, recycles 
water and encourages individuals and industry to use 
such water for non-potable purposes. In 
the foreseeable future, such recycled water could be 
used even for drinking, when people’s mind set 
changes. 
Some cities have laid down mandatory rules to 
harvest groundwater. However, it is no longer ‘free’. A 
permit is required to drill a bore-well. Moreover, 
what’s needed is to levy a charge for extracting 
groundwater, which is community property. Rainwater 
harvesting is catching on, and is mandatory in cities 
and towns. Urban water supply is plagued by leaks 
and contamination. Maintaining pipes and taps 
properly could go a long way in conserving water. 
Drought-prone areas have realized the advantage of 
rainwater harvesting. This is an ancient practice 
followed by ancient civilizations near the deserts 
where the rainfall was meager and tended to run off 
wastefully. Mini bunds, increasing storage capacity of 
village tanks and planting trees are all aimed at 
harvesting rain when it occurs. A few villages in 
Madhya Pradesh, Maharashtra and Rajasthan have 
demonstrated how scanty rainfall could be utilized 
better through run-off prevention and charging 
underground water springs. 
Water Poverty Index(WPI) is a measure that 
combines indices of water availability and access with 
indices of people’s capacity to pay. There may be 
abundance of water but not paying capacity for water 
use. In general, water poverty is related to income 
poverty, the WPI is inseparable from Human 
Development Index (HDI) where we rank abysmally 

low compared even to developing countries like 
Thailand. 
The poor have no reason to ‘feel good’ given such a 
hopeless situation where there is a daily, relentless 
struggle to access clean water at an affordable price. 

 
1.  How, according to the passage, can conservation of 

water, be achieved in urban areas? 
(1) People should focus on finding ways to ensure 
economical use of water 
(2) By ensuring that pipes and taps don’t leak so that 
water remains free of contamination. 
(3) Trees or plants should be watered only once a 
day. 
(4) Awareness drives should be conducted to inform 
people about rainwater harvesting. 
(5) Not mentioned in the passage 

 
2.  Which of the following is TRUE in the context of the 

passage? 
(1) Rainwater harvesting has been made mandatory 
in cities and towns. 
(2) Measures of conserving water should be found out 
because it is a limited natural resource. 
(3) Levying a charge for extracting groundwater is 
essential because it is community property 
(4) The author has sympathized with the poor as they 
struggle on a regular basis to get clean  water at an 
economical price. 
(5) All of the above 

 
3.  Which of the following measures has/ have been 

suggested to harvest rain? 
(1)  Have water tanks of increased capacity in villages 
(2)  Purifying water    
(3)  Plant more and more trees. 
(4)  Mini bunds 
(1) Only 2   (2) Only 3      
(3) Only 3 and 4  (4) All except 2 
(5) All except 4 

 
4.  How have industries contributed towards the 

conservation of water? 
(1) Industries have started programmers to impart 
knowledge about it. 
(2) Industries have been focusing on ways to find 
alternative of water as a resource to be used in daily 
lives. 
(3) They have focused on changing process so that 
least possible quantity of water is brought to use. 
(4) They have started funding research programmers 
which concern conservation of water. 
(5) They have not contributed towards it. 

 
5.  How is water poverty related to income poverty?' 

(1) Those who belong to low income group can afford 
pure water easily. 
(2) Income ensures education and awareness for 
purity of water. 
(3) Poor people are deprived of all the basic 
amenities including water. 
(4) There may be abundant water available but one 
should have money to afford it 
(5) Not clearly explained in the passage 

 
6.  Which of the following has been stated about the 

origin of rainwater harvesting? 
(1) Rainwater harvesting is a modern concept and 
was though of knowing the demand for water. 
(2) In ancient times, the rainfall was not sufficient near 
deserts and therefore people had scarcity of water. 
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(3) It is an ancient concept and was used when water 
was abundant but was not being used for   the benefit 
of mankind 
(4) Only 2 and 3 
(5) Nothing has been stated about rainwater 
harvesting. 

 
Direction (7-8) Choose the word which is most nearly the 

SAME in meaning as the word printed in bold as used 
in the passage. 

 
7.  Foreseeable 

(1) Stable    (2) Dormant   
(3) Vibrant  (4) Volatile     
(5) Predictable 

 
8.  Relentless 

(1) Alternative      (2) Ferocious  
(3) Practically  (4) Never ending  
(5) Agile 

 
Direction (9-10) Choose the word which is most nearly the 

OPPOSITE in meaning as the word printed in bold as 
used in the passage. 

 
9.  Contamination 

(1) Suspension       (2) Mention           
(3) Purification  (4) Transmission  
(5) Pollution 

 
10.  Realized 

(1) Overlooked     (2) Performed        
(3) Substantiated  (4) Improved      
(5) Stated 

 
Direction (11–15) Which of the phrases (1), (2), (3), (4) given 

below each sentence should replace the phrase 
printed in bold type to make the sentence 
grammatically correct? If the sentence is correct as it 
is mark (5) i.e. ‘No correction required’ as the answer 

 
11.  If Japanese markets needed a definition of the word 

jinx, then brokers’ efforts to convince investors to take 
a “one-way bet” on the prime minister’s political 
longevity, followed a few weeks later by a spectacle 
of connivance and a falsified document which could 
potentially finish him, is pretty good. 
(1) by a spectacle of connivance and a falsified 
document what could   
(2) by a spectacle of connivance and a falsified 
document were could 
(3) by a spectacle of connivance and a falsified 
document that could   
(4) by a spectacle of connivance and a falsified 
document when could 
(5) None of these. 

 
12.  Most tycoons have lost influence in Delhi, as 

politicians from Mr Modi down realise the toxicity of 
being seen to being in cahoots with “bollygarchs”. 
(1) toxicity of being seen to been in cahoots against 
(2) toxicity of being seen to being in cahoots around 
(3) toxicity of being seen to been in cahoots for 
(4) toxicity of being seen to be in cahoots with 
(5) None of these. 

 
13.  The taskforce is made up of administration officials, 

not independent experts but if it takes its job 
seriously, it should recommend privatising USPS and 
relaxing its monopoly power. 
(1) they should recommend privatising the USPS and 
relaxing its monopoly power 

(2) it should recommend privatising an USPS and 
relaxing its monopoly power 
(3) they should recommend privatising an USPS and 
relaxing its monopoly power 
(4) it should recommend privatising the USPS and 
relaxing its monopoly power 
(5) None of these. 

 
14.  Since shaking off communism in 1989 Poland has 

rivalled the bounciest Asian tigers in GDP growth and 
has become a vital NATO ally but it is also on the 
front line of what France’s president, Emmanuel 
Macron, calls a “European civil war” over the rule of 
law. 
(1) but it is also on the front line of that 
(2) but it is also on the front line of which 
(3) but it is also on the front line of hence 
(4) but it is also on the front line of therefore 
(5) None of these. 

 
15.  This undoubted and persistent connection with 

opposition, coupled with a surprising amount of 
loyalty from elsewhere in the party, makes the 
president pretty more unassailable. 
(1) from elsewhere in the party, makes the president 
pretty most unassailable  
(2) from elsewhere in the party, makes the president 
pretty much unassailable 
(3) from elsewhere in the party, makes the president 
pretty thing unassailable  
(4) from elsewhere in the party, makes the president 
pretty a lot unassailable 
(5) None of these. 

 
Directions (16-20) Find out the error, if any. If there is no 

error, the answer is (5), i.e. No error.(Ignore the errors 
of punctuation, if any. 

 
16.  The first week for ESPN+, a sports streaming service 

that Disney,(a)/owner of ESPN, launched in America 
on April 12th,(b)/had none of the razzmatazz 
associated with(c)/a firm known by blockbuster 
openings.(d)/No error(e)  
(1) a   (2) b 
(3) c   (4) d 
(5) e 

 
17.  In 1840, after a proposal by(a) / Rowland Hill, an 

inventor, Britain(b) / launched the Penny Post, the(c) / 
world’s first universal mail service.(d) / No error(e)  
(1) a   (2) b 
(3) c   (4) d 
(5) e 

 
18.  Any benefit that Deutsche brings to Germany(a) / 

should be weighed against the potential cost(b) / to 
the government of hosting a bare(c) / profitable bank 
that relies on wholesale funding.(d) / No error(e)  
(1) a   (2) b 
(3) c   (4) d 
(5) e 

 
19.  Just a few years ago Wuhan,(a) / a sprawling 

metropolis in the middle reaches(b) / of the Yangtze 
River, exemplifies(c) / China’s economic woes.(d) / 
No error(e)  
(1) a   (2) b 
(3) c   (4) d 
(5) e 

 
20.  Between April 13th and April 18th(a) / America’s 

biggest banks reported the(b) / strong set of first 
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quarter earnings,(c) / with a helping hand from the 
taxman.(d) / No error(e)  
(1) a   (2) b 
(3) c   (4) d 
(5) e 

 
Direction (21-30) In the following passage there are blanks 

each of which has been numbered. These numbers 
are printed below the passage and against each five 
words have been suggested, one of which fits the 
blanks appropriately. Find out the appropriate word in 
each case. 

 
 Industries have always played a fundamental role 

in (21) a progressive nation. They play a crucial role 
in the creation of jobs, building infrastructure, (22) of 
poverty, increasing exports of the country and, in the 
process, decreasing imports. The increased focus of 
industries on the development agenda is also helping 
the government to (23) its social agenda. 

 India has always been proud of being a democratic 
country. A combination of young and not-so-young 
entrepreneurs, who have infused billions of dollars of 
funds and global technology, has helped give millions 
of unutilized human resource employment, to build 
the India of today and for tomorrow. Let us accept 
that industrialization and manufacturing is here 
to (24) in India, and is a large (25) to the economy. 

 The year 2013 was reminiscent the era of 1990s 
when India faced its second economic crisis, but also 
saw the dawn of the liberalization of the economy. 
Opening up of foreign investment, liberalization in 
industrial policies to give impetus to growth, 
disinvestment of under-performing public sector 
companies, and similar policies were seen as an 
opportunity to give a much-needed (26) to the 
economy. The formula worked in favour of India and 
the country not only came back to its growth path but 
also became one of the most preferred (27) for 
foreign investors. Today, India needs strong global 
confidence in relation to its policies, commitments and 
government support. At one point, justice could even 
be denied, but justice delayed (28) the industry and 
the economy. The year ahead, 2014, is being seen as 
one of hope and (29). The industry is looking forward 
to a speedy disposal of proposals and clearances. 
Agenda that could lead to not just creation of strong 
infrastructure but also result in massive 
employment (30) leading towards eradication of 
poverty are being proposed. 

 
21.  Choose the correct option for (21) 

(1) Attaching     (2) deteriorating 
(3) segmenting  (4) Justifying     
(5) building 

 
22.  Choose the correct option for (22) 

(1) Alleviation        (2) adjustment  
(3) bifurcation  (4) publicizing        
(5) comfort 

 
23.  Choose the correct option for (23) 

(1) Negotiate         (2) spreading  
(3) targets  (4) achieve         
(5) produced 

 
24.  Choose the correct option for (24) 

(1) Anticipate    (2) stay   
(3) advancement   (4) leave   
(5) expects 

 
25.  Choose the correct option for (25) 

(1) Regulator         (2) sponsor   

(3) contributor   (4) mentor           
(5) writer 

 
26.  Choose the correct option for (26) 

(1) Loss       (2) attend      
(3) fright       (4) boost      
(5) vexation 

 
27.  Choose the correct option for (27) 

(1) Destinations    (2) designs   
(3) aim     (4) objects   
(5) fortune 

 
28.  Choose the correct option for (28) 

(1) Directs       (2) activates           
(3) revolutionizes  (4) Hones          
(5) paralyses 

 
29.  Choose the correct option for (29) 

(1) Mourning         (2) motivate  
(3) revival  (4) suppression        
(5) deviation 

 
30.  Choose the correct option for (30) 

(1) Struggle       (2) generation           
(3) replacement  (4) agenda       
(5) announced 

 
Direction (31-40) In a passage given below there are 10 
 blanks, each followed by a word given in bold. Even 
 blank has four alternative words given in options (1), 
 (2), (3) and (4). You have to choose which word will 
 best suit to the respective blank. Choose (5) as your 
 answer if the word given in the bold after the blank is 
 your answer i.e. "No change requires". 
 
 “Minorities have been made to live in fear by those 
 who believe in vote-bank politics,” Prime Minister 
 Narendra Modi told newly elected MPs of the National 
 Democratic Alliance (NDA), among whom members 
 belonging to his Bharatiya Janata Party (BJP) 
 command a clear majority in the 17th Lok Sabha. “We 
 have to end this (31) betrayal and take everyone 
 along.” 
 During the election campaign, however, on April 6, 
 Mr. Modi had said about Congress president Rahul 
 Gandhi contesting from Kerala’s Wayanad  
 (32) electorate: “The Congress dynast... selected a 
 seat where the majority is in minority.” He was 
 referring to the demographic projection of Hindus 
 constituting less than half the electorate in Wayanad. 
 Between the two statements lie clues about Mr. 
 Modi’s winning strategy. Winners in multiparty 
 contests in a ‘first past the post’ system often emerge 
 with a plurality of votes, leaving several minorities that 
 could add up to a majority on the opposing side. 
 Electoral strategies tend to focus on assembling a 
 plurality of voters on one’s side and preventing the 
 consolidation of opposing voters. Groups based on 
 static identities such as caste, gender and language 
 are individual components that are usually (33)amass 
 to form social coalitions, while class, a more porous 
 identity, has increasingly become an impossible 
 instrument of mobilisation. Fresh realignments of the 
 electorate are always possible until you define 
 majority and minority in terms of a static meta-identity 
 of religion, which (34) avert further negotiations. 
 The construction of that meta-identity and potentially 
 a permanent majority is the singular achievement of 
 Hindutva 2.0, Mr. Modi’s innovation to Hindu cultural 
 nationalism. The pre-eminence of religion as the 
 defining matrix to identify the minority and the majority 
 is illustrated in the statements above. In secular 
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 politics, religious minorities were treated as monoliths, 
 while Hindu identity was subordinate to its various 
 components that (35) were individually minorities. 
 Manmohan Singh, India’s first non-Hindu Prime 
 Minister, led a (36) affiliation of religious, caste, 
 linguistic and cultural minorities represented through 
 a multitude of parties, from 2004 to 2014. He 
 repeatedly (37) established that he had the 
 confidence of a majority of the members of the Lok 
 Sabha. But the (38) validity of his authority was 
 constantly questioned, notably by the Hindu 
 nationalists, in an attempt to harvest the notion, which 
 (39) apparently existed independently, of a minority-
 majority rule that harms national interest. The fact that 
 the other (40) prominent faces of that coalition were 
 Sonia Gandhi, a Christian, and Ahmad Patel, a 
 Muslim, fuelled this campaign. 
 
31.  (1) deception  (2) cost   
 (3) charge  (4) liability  
 (5) No change required 
 
32.  (1) city   (2) constituency  
 (3) district  (4) area  
 (5) No change required 
 
33.  (1) position  (2) attitude  
 (3) aggregated  (4) perspective  
 (5) No change required 
 
34.  (1) assemble  (2) arrange  
 (3) displaying  (4) precludes  
 (5) No change required 
 
35.   (1) may   (2) could 
 (3) is   (4) will  
 (5) No change required 
 
36.  (1) coalition  (2) drag  
 (3) pull out  (4) extract  
 (5) No change required 
 
37.  (1) relabeled   (2) demonstrated 
 (3) soundness  (4) accreted  
 (5) No change required 
 
38.  (1) energetic  (2) dynamic  
 (3) legitimacy  (4) practical  
 (5) No change required 
 
39.  (1) reapply  (2) medley   
 (3) restore  (4) probably  
 (5) No change required 
 
40.    (1) contribution  (2) deductions  
 (3) extraction  (4) payment  
 (5) No change required 
 
Direction (41-50) Read the passage carefully and answer the 
 following questions. 
 
 Terrorism, regional cooperation and the future of 
 Afghanistan were major themes at the Shanghai 
 Cooperation Organisation’s Heads of State summit in 
 Bishkek. The grouping, led by Russia and China, 
 which includes Afghanistan and the Central Asian 
 states of Uzbekistan, Kazakhstan, Tajikistan and 
 Kyrgyzstan, inducted India and Pakistan in 2017, 
 and has become an important forum for India’s 
 Eurasian neighbourhood. In a world riven by 
 geopolitical contestations, SCO membership 
 provides India a vital counter to some of the other 
 groupings it is a part of, balancing out its stated policy 

 of pursuing “multi-alignments”. It is a platform also for 
 alignments on issues such as energy security, 
 connectivity and trade. With India indicating that it 
 sees little use for SAARC, the SCO provides the only 
 multilateral platform for it to deal in close proximity 
 with Pakistan and Afghanistan. While the failure of 
 Prime Minister Narendra Modi and his Pakistani 
 counterpart Imran Khan to hold substantive talks at 
 the summit was marked, the occasion provided a 
 setting for them to exchange what India called the 
 “usual pleasantries” at the  least. Beyond the summit, 
 the two countries are committed to engaging at 
 several other levels, including the SCO Regional Anti-
 Terrorist Structure. Pakistan leads the effort to 
 coordinate between the SCO and the UN Office on 
 Drugs and Crime. In a paragraph on Afghanistan and 
 the SCO-Afghanistan contact group, the Bishkek 
 declaration stressed on an inclusive peace process 
 led by “Afghans themselves”. SCO countries 
 committed to strengthening economic cooperation 
 and supporting the World Trade Organisation 
 structure, while building more people-to-people ties, 
 tourism and cultural bonds within the grouping. 
 It is significant to see that where the group has failed 
 to find consensus, such as on India’s opposition to 
 China’s Belt and Road Initiative, the declaration has 
 mentioned only the other countries in a paragraph 
 praising the project. On the sidelines, Mr. Modi held 
 bilateral meetings with Chinese President Xi Jinping 
 and Russian President Vladimir Putin. This month, 
 Mr. Modi will meet U.S. President Donald Trump on 
 the sidelines of the G-20 summit in Osaka. While the 
 current India-U.S. trade impasse and plans for Indo-
 Pacific military cooperation will take centrestage 
 there, it is likely that the U.S.’s specific demands on 
 curbing defence deals with Russia, including on the 
 S-400 anti-missile system, and denying access to 
 Chinese telecom major Huawei for India’s 5G network 
 bids will also come up. India’s strategy of balancing 
 and straddling the competing interests of these 
 emerging blocs will be tested. But the SCO collective 
 and the bilateral meetings in Bishkek are an important 
 indicator early in the Modi government’s second 
 tenure of the foreign policy arc it is attempting. 
 
41.  Which of the following organisation does India see as 
 a Ray of Hope to deal with its neighboring countries? 
 (i) SAARC  (ii) SCO   
 (iii) Bishkek 
 (1) i and ii  (2) ii and iii 
 (3) i and iii  (4) i, ii and iii  
 (5) only ii 
 
42.  Which of the following best expresses the meaning of 
 the word inducted as used in the passage? 
 (1) Introduce  (2) install 
 (3) invest  (4) conscript  
 (5) turn away 
 
43.  In 2017 which of the following countries were given 
 the membership of SCO. 
 (1) Russia and China  
 (2) Afghanistan and Uzbekistan  
 (3) India and Pakistan  
 (4) Kazakhstan and Tajikistan  
 (5) None of these 
 
44.  Which of the following statements is not true 
 according to the passage? SCO members are aiming 
 at- 
 (1) developing tourism  
 (2) eliminating from the world 
 (3) strengthening cultural bonds  

http://bit.ly/TesMusPrime
https://tesmus.com/


IBPS SO PRE 2023                            TEST ID – ISP-881361749 

 

 

 

App :- http://bit.ly/TesMusPrime                       6 | P a g e                 Web :- https://tesmus.com  

 (4) supporting WTO 
 (5) All of the above 
 
45.  Which of the following is most nearly the opposite in 
 meaning of the word “RIVEN” as used in the 
 passage? 
 (1) fray   (2) divided 
 (3) United  (4) Agree   
 (5) None of these 
 
46.  Which of the following is most nearly same in the 
 meaning of the word “IMPASSE” as used in the 
 passage? 
 (1) Breakthrough  (2) boon 
 (3) way   (4) standstill  
 (5) dilemma 
 
47.  Which of the following countries are/ is not a member 
 of SCO? 
 (i) The U.S. (ii) Russia (iii) Pakistan 
 (1) Only iii  (2) i and iii  
 (3) Only ii  (4) I and iii  
 (5) i, ii and iii 
 
48.  Choose the word which as same meaning as the 
 word “contestations”. 
 (1) agreement  (2) harmony  
 (3) peace  (4) quiet 
 (5) arguments 
 
49.  Choose the word which as opposite meaning as the 
 word “curbing”. 
 (1) constrain  (2) contain  
 (3) control  (4) hamper  
 (5) encourage 
 
50.  Choose the word which as opposite meaning as the 
 word “proximity”. 
 (1) distance  (2) hedge  
 (3) mount  (4) sprawl  
 (5) Hazy 

Quantitative Aptitude 

Direction (51-55) Read the following information carefully and 
answers the following questions. The table below 
shows number of two wheelers produced and sold by 
three different companies and the given years. 

  
 
51.  If the total number of two wheelers sold by Hero and 

Honda in the year 2007 is 400 and the number of two 
wheelers sold by Honda in 2008 is 200 more than two 
wheelers sold by the same company in 2007 then find 
the number of two wheelers produced by Honda in 
2008? 
(1) 454   (2) 654 
(3) 855   (4) 543 
(5) 435 

 
52.  If the ratio of the number of two wheelers sold by 

Hero in 2009 to that in 2010 is 8:9 then find the 
approximate percentage of two wheelers were sold by 
Hero in 2010? 
(1) 21   (2) 12 
(3) 22   (4) 13 
(5) 23 

53.  If TVS produced ‘a’ number of two wheelers in 2007 
and ‘a+ 200’ number of two wheelers in 2009 and the 
total number of two wheelers sold by TVS in these 
years is 630 then find how many two wheelers were 
sold in 2009? 
(1) 444   (2) 434 
(3) 480   (4) 422 
(5) 343 

 
54.  Honda produced 900 two wheelers in 2010 and the 

number of two wheelers sold by the same company in 
2007 is 10 % more than number of two wheelers sold 
by the company in 2010 then find number of two 
wheelers produced by the same company in 2008 if 
the number of two wheelers sold by Honda in 2007 
and 2008 is in the ratio of 9:8? 
(1) 543   (2) 432 
(3) 344   (4) 660 
(5) 324 

 
55.  If the average number of two wheelers sold by Hero 

in 2006, 2007 and 2008 is 200 then the production of 
Hero in 2008 is what percentage of the production of 
Honda in 2009?  
(1) 98%   (2) 80% 
(3) 56%   (4) 65% 
(5) 78% 

 
Directions (56–60) What value should come in place of 

question mark (?) in the following questions? 
 
56.  36 % of 420 – 56 % of 350 = x – 112 - 552 

(1) 3092.2  (2) 2984.6 
(3) 4018.4  (4) 1987.8 
(5) None of these 

 

57.  17 
2

3
 of 180 + 1/4 of 480 =? 

(1) 4200   (2) 2900 
(3) 4800   (4) 3300 
(5) None of these 

 
58.  {9801 ÷ √14641} × √(42.25) = x ÷ 6 

(1) 1987   (2) 2456 
(3) 3159   (4) 2983 
(5) None of these 

 
59.  56 × 12 – 48 × 896 ÷ 112 =? 

(1) 426   (2) 288 
(3) 344   (4) 572 
(5) None of these 

 

60.  1 
5

3
 ÷ (3/11) × (x/11) = 2 2/3 × (7/5) × (6/7)  

(1) 4.8   (2) 6.2 
(3) 3.6   (4) 5.4 
(5) None of these 

 
61.  If a is the area, b is the circumference and c is the 

diameter of circle then the value of a/bc 
(1) 4  :  1  (2) 1  :  4 
(3) 1 :  2   (4) 2  :  1 
(5) None of these 

 
62.  The digit in the unit’s place of {(341)98 + (211)59 – 

(45)100 + (105)35 – 164 + 259} is 
(1) 1   (2) 4 
(3) 5   (4) 7 
(5) None of these 

 
63.  A dealer allows a discount of 15%. A customer pays 

an amount of Rs. 255 for an article. At what price is 
the article listed? 
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(1) Rs. 366.50  (2) Rs. 300.00 
(3) Rs. 350.00  (4) Rs. 431.25 
(5) None of these 

 
64.  Two students appeared for an examination, One of 

them secured 19 marks more than the other and his 
marks were 60% of the sum of their marks. The 
marks obtained by them are___. 
(1) 78 and 59  (2) 57 and 38 
(3) 45 and 26  (4) 99 and 80 
(5) None of these 

 
65.  A train is moving at a speed of 90 km/h and covers a 

certain distance in 9 hours. The speed of the train to 
cover twice the distance in half the time is 
(1) 90 km/h  (2) 120 km/h 
(3) 67 km/h  (4) 380 km/h 
(5) None of these 

 
Directions (66–70) What value should come in place of (?) in 

the following series? 
 
66.  106, 192, 364, 622,?   

(1) 782   (2) 966 
(3) 854   (4) 1280 
(5) None of these 

 
67.  105, 119, 125, 161,? 

(1) 346   (2) 297 
(3) 383   (4) 225 
(5) None of these 

 
68.  542, 249, 252, 640, 192, 141, ? 

(1) 287        (2) 289       
(3) 316       (4) 285     
(5) None of these  

 
69.  47, 51, 111, 349,? 

(1) 1421   (2) 783 
(3) 987   (4) 1843 
(5) None of these 

 
70.  120, 135, 157, 193, 250, ? 

(1) 485   (2) 335 
(3) 277   (4) 547 
(5) None of these 

 
Direction (71-76) Read the following passage carefully and 
 answer the given questions. 

 
Certain number of students applied for UG graduation 
in abroad from the two places namely Sirru and 
Clarksville.   
In Clarksville 75% of total males and 25% of total 
females applied, this is 55% of the total students in 
that city whose total is 550. Total number of males in 
Sirru is twice that of males in Clarksville. Number of 
females applied for UG graduation is 100. 
In Sirru 3/5 of the total students is males in which half 
of the students applied for UG graduation in abroad. 
Half of the total males and half of the total females 
applied for UG graduation. 

 
71.  Number of female students who are NOT applied for 

UG graduation in abroad from Sirru is what 
percentage of number of males who are applied for 
UG graduation in abroad from Clarksville? 
(1) 72.5%  (2) 88.89% 
(3) 66.67%  (4) 54.67% 
(5) 68.54% 

 

72.  What is the ratio between the number of females who 
are NOT applied in Clarksville and the number of 
males applied in Sirru? 
(1) 2:3   (2) 4:5 
(3) 1:2   (4) 3:1 
(5) None of these 

 
73.  What is the difference between the number of 

students in Clarksville and Sirru? 
(1) 1200   (2) 800 
(3) 600   (4) 1000 
(5) 500 

 
74.  Number of males in Clarksville is what percentage 

less than the number of females in Sirru? 
(1) 20%   (2) 24% 
(3) 30%   (4) 36% 
(5) 25% 

 
75.  Find the total number of students not applied for UG 

graduation in both the places. 
(1) 1200   (2) 1250 
(3) 1450   (4) 1050 
(5) 950 

 
76.  What is the ratio between the total males not applied 

for both the place together and the total females 
applied for both the places together? 
(1) 3:2   (2) 1:3 
(3) 2:5   (4) 1:4 
(5) None of these 

 
77.  A and B alone can do a piece of work in x and (x+10) 

days respectively and they work together can finish 
the work in 9(3/8) days. Then find the efficiency ratio 
of A and B. 
(1) 2:7   (2) 5:3 
(3) 2:3   (4) 1:3 
(5) 4:5 

 
78.  A man bought 50 crates of mangoes for Rs. 20,000. 

He lost 10 crates. In order to earn a total profit of 25% 
of the total cost, he would have to sell each of the 
remaining crates at 
(1) Rs. 650  (2) Rs. 625 
(3) Rs. 600  (4) Rs. 575 
(5) None of these 

 
79.  Kanna and Krishna start a business with the capital of 

Rs.18000 and Rs.24000 respectively. After some 
months Krishna left the business and received one-
fourth of the total profit, then how many months 
Kanna alone run the business? 
(1) 5 months  (2) 3 months 
(3) 9 months  (4) 4 months 
(5) 6 months 

 
80.  A alone can do a piece of work in 24 days. B alone 

can do the same work in 36 days. They finish the 
work with the help of C in 8 days. A and B started 
working together, after 3 days C joins and B left 3 
days before the work was completed. Find the 
number of days to finish the whole work. 
(1) 12 days  (2) 15 days 
(3) 20 days  (4) 24 days 
(5) None of these 

 
Direction (81-85) Study the following graph carefully and 
 answer the given questions. 

The bar chart shows the number of tigers in five 
different National parks in two different years 
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81.  What is the difference between the total number of 

tigers in the year 1998 and the total number of tiger 
reserve in the year 2018? 
(1) 48   (2) 72 
(3) 36   (4) 54 
(5) 51 

 
82.  If the total number of tigers in 2017 in the National 

park D is 25% more than the number of tigers in 2018 
in the same park, then find the number of tigers in the 
year 2017 in national park D. 
(1) 120   (2) 105 
(3) 150   (4) 135 
(5) 145 

 
83.  What is the ratio between the total number of tigers in 

national parks A, C and D together and the total 
number of tigers in national parks B, C and D together 
for both the years? 
(1) 399:308  (2) 402:459 
(3) 325:421  (4) 461:457 
(5) None of these 

 
84.  Total number of tigers in the year 2018 in A, B and C 

together is approximately what percentage of the total 
number of tigers in D and E in the year 1998? 
(1) 80%   (2) 95% 
(3) 64%   (4) 72% 
(5) 90% 

 
85.  Number of tigers in A and B together for both the 

years is what percentage of the number of tigers in C 
and D together for both the years? 
(1) 72.54%  (2) 89.67% 
(3) 42.87%  (4) 96.56% 
(5) None of these 

 
Directions (86-90) Study the following data carefully to answer 
 the questions that follow:  
  
 John bought some quantity of three types of sweets 
 Laddu, Jamun and Badusha in ratio of 10: 9:6. 
 Badusha costed him a total of Rs.8640 at the rate of 
 360 per kg. By selling Badusha at a discount of 10% 
 he earned a profit of 25%. On selling Jamun (which 
 was marked Rs.600 per kg) he earned Rs.15 less 
 profit per kg as compared to that on Badusha by 
 selling Jamun at 20% discount. John spent a total of 
 Rs.47220 on buying these sweets, while he earned a 
 total profit of Rs.7460 on selling all bought sweets. 
 Laddus were marked 40% above cost price per kg. 
 
86.  If John gave an extra discount of 10% on Badusha, 
 then his gain % or loss% is what? 
 (1) 18%   (2) 20%  
 (3) 24%   (4) 12.5%  
 (5) 15% 
87.  Find the total quantity of sweets bought by John? 
 (1) 300 Kg  (2) 100 Kg  
 (3) 400 Kg  (4) 200 Kg  
 (5) 900 Kg 

88.  If 6 kg of Jamun was wasted away due to some 
 reason. Find profit Percentage or loss percentage by 
 selling the remaining Jamun as per given condition. 
 (1) 2.12%  (2) 1.23%  
 (3) 3.11%  (4) 6.56%  
 (5) 8.11% 
 
89.  Cost price per kg of Badusha was what percent less 
 than marked price per kg of Badusha? 
 (1) 30%   (2) 40% 
 (3) 10%   (4) 28% 
 (5) 60% 
 
90.  What is the ratio of the M.P of Jamun to the sum of 
 profit of all the sweets (per kg)? 
 (1) 60: 23  (2) 62:19  
 (3) 63:44  (4) 63:31  
 (5) 59:33 
 
91.  A dishonest seller takes 20% more than the indicated 
 weight when he purchases the items from the dealer. 
 He gives 20% less than the indicated weight to his 
 customer at the cost price, then find the profit 
 percentage of the shopkeeper?  
 (1) 49.92%  (2) 23.96%  
 (3) 54.91%  (4) 12.95%  
 (5) 71.93% 
 
92.  A vessel contains 60 liters of Milk. 6 liters of Milk is 
 taken out of the vessel and replaced by the same 
 quantity of water. Next 6 liters of the mixture are 
 withdrawn, and again the vessel is filled with the 
 same quantity of water. Find the ratio of milk left in 
 the vessel to the quantity of milk initially in the vessel.  
 (1) 21:100  (2) 31:100  
 (3) 87:100  (4) 81:100  
 (5) 27:100 
 
93.  Outside a rectangular garden a path of uniform width 
 of 3 meter is made. If the area of rectangular garden 
 is 640m2 and area of garden including path is 916m2, 
 then find the perimeter of the garden.  
 (1) 30 m   (2) 50 m   
 (3) 20 m   (4) 60 m  
 (5) 80 m 
 
94.  A, B and C are three small pumps fitted to a tank. D is 
 a large pump fitted to the tank. Pump B is 25% more 
 efficient than A. Pump C is 20% more efficient than B. 
 Pump D is 4/3rd efficient of pump C. All of the pumps 
 are used to fill the tank. What is the ratio of the time 
 taken by pumps A and B to fill the tank together to the 
 time taken by the pumps B and D to fill the tank 
 together?  
 (1) 17:8   (2) 15:5  
 (3) 12:8   (4) 13:9 
 (5) 32:9 
 
95.  A Shopkeeper usually sells for Rs 1500 per bag. 
 Once he gave two successive discounts of 10% and 
 20% while selling a bag to a customer. But he 
 charged an additional 5% on the net sale price from 
 the customer. By what percent is the new selling price 
 less than the original selling price?  
 (1) 24.4%  (2) 23.8%  
 (3) 65.5%  (4) 21.3%  
 (5) 31.3% 
 
96.  450.64 + 1288.52 + 638.12 – 352.28 = (?)2 

 (1) 40   (2) 45  
 (3) √45   (4) 25  
 (5) 35 
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97.  1
2

7
  + 9 

6

35
   – 8 

3

7
  = (?) 

 (1) 1
3

7
     (2) 1 

2

24
    

 (3) 2 
5

7
     (4) 1 

2

7
    

 (5) 2 
1

35
   

 
98.  7890.6+46550.54+452.54+885.46=?+5779.14 
 (1) 5000   (2) 55000  
 (3) 50000  (4) 57500  
 (5) 45700 
 
99.  (√648 ÷ 32) × (√225 ÷ 45) = ? ÷ 48 
 (1) 3   (2) 9  
 (3) 12   (4) 18  
 (5) 16 
 
100.  90% of 320 + 58% of 4200 = ?% of 7200 
 (1) 227/6  (2) 224/6  
 (3) 223/6  (4) 221/6  
 (5) 241/6 

Reasoning Aptitude 

Directions (101) Each of the questions below has question 
and followed by two statements I and II. You have to 
decide whether the data provided in the statements 
are sufficient to answer the question. Read the 
question and both the statements and give answer. 

 
101.  If “English Novel is good” is coded as “nm bt ch gl”, 

“good Novel get Prize” is coded as “ms sr bt gl”, 
“Prize is Precious” is coded as “sr qm nm” , then what 
is the code for “English” in the given coding 
language? 
(1) gl   (2) ch 
(3) nm   (4) bt 
(5) Either(1) or (2)  

 
Direction (102-106) Read the following information carefully 
 and answer the questions given below. 

 
Eight persons A, B, C, D, E, F, G and H are sitting in a 
circular table and some of them are facing inside the 
table while some of them are facing opposite to the 
centre of the table. They all are not necessary to be in 
the same order. Not more than two persons facing 
same direction sits together. 
B sits second to the left of G and faces opposite to 
centre of the table. D sits second to the right of E, 
who is an immediate neighbour of H. D faces the 
same direction as G (If D faces centre of the table, 
then G also faces centre of the table and vice-versa). 
A is not an immediate neighbour of B and faces the 
same direction as H. Not more than four persons are 
facing outside the centre of the table. Immediate 
neighbours of D faces opposite directions to each 
other (If one of the immediate neighbours of D faces 
centre of the table, then another one faces opposite 
to centre of the table and vice-versa). Two persons 
are sitting between B and H, who is not an immediate 
neighbour of G. E faces the same direction as C, who 
is not an immediate neighbour of D. 

 
102.  Who among the following sits third to the left of G? 

(1) H   (2) E 
(3) C   (4) F 
(5) D 

 
103.  How many persons are facing the centre of the table? 

(1) Three  (2) Five 
(3) Four   (4) Six 
(5) Cannot be determined 

 

104.  Which of the following statements is true? 
(1) Only one person sits between F and A 
(2) E and B are facing the same direction 
(3) H sits opposite to G   
(4) C sits second to the left of A 
(5) H sits immediate left of D 

 
105.  Four of the following five are alike in a certain way 

and hence form a group. Which one of the following 
does not belong to that group? 
(1) H   (2) D 
(3) C   (4) G 
(5) F 

 
106.  If E is related to D and F is related to C in a certain 

way. Then H is related to which of the following? 
(1) F   (2) A 
(3) B   (4) C 
(5) E 

 
Direction (107-111) Read the following information carefully 
 and answer the questions given below. 

 
Eight persons-D, T, M, L, S, V, X and J are living on 
eight different floors of a building, while the ground 
floor is numbered one, the above one floor is 
numbered two and so on till the topmost floor is 
numbered eight. They all are like different fruits 
namely, Grapes, Guava, Orange, Mango, Banana, 
Apple, Papaya and Cherry but not necessary in the 
same order. 
Only one person lives between the one who likes 
Grapes and T, who lives on one of the even 
numbered floors. The person who likes Grapes does 
not live in the topmost floor. More than two persons 
are living between S and the one who likes Grapes. 
Two persons are living between S and J, who likes 
Apple. As many persons lives above Papaya is same 
as the number of persons lives below M. Only two 
persons are living between L and the one who likes 
Papaya. The one who likes Papaya lives one of the 
floors above L. The one who likes Cherry live 
immediately below X. T does not like Cherry. Only 
one person lives between D and the one who likes 
Banana. V lives immediately below the one who likes 
Orange. D does not like Guava. T does not live on the 
fourth floor. The one who likes Apple does not live on 
the even numbered floor. 

 
107.  X likes which of the following fruits? 

(1) Mango  (2) Grapes 
(3) Banana  (4) Guava 
(5) Papaya 

 
108.  How many persons are living between the one who 

likes Cherry and J? 
(1) One   (2) Two 
(3) Three  (4) None 
(5) More than three 

 
109.  Four of the following five are alike in a certain way 

and hence form a group. Which one of the following 
that does not belong to the group? 
(1) The one who lives immediately below X 
(2) L 
(3) The one who likes Orange   
(4) The one who likes Mango 
(5) T 

110.  If ‘S’ and ‘D’ are interchange their floors, then how 
many persons are living between D and the one who 
likes Grapes? 
(1) Two   (2) Three 
(3) One   (4) Four 
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(5) None 
 
111.  If V is related to Apple and L is related to Cherry in a 

certain way. Then, S is related to which of the 
following? 
(1) Guava  (2) Papaya 
(3) Orange  (4) Grapes 
(5) Mango 

 
Directions (112-116) Study the following information carefully 

and answer the questions given below. 
 

Point A is 4m to the West of Point H. Point H is 9m to 
south of point S. Point S is 10m to the north of point 
R. Point R is 6m to the west of point M. Point M is 
14m to the north of point N and Point N is 7m to the 
south of point T. Point B is exactly to the south of 
point A and exactly to the west of point N. 

 
112.  What is the shortest distance between S and N 

approximately? 
(1) 14 m   (2) 36 m 
(3) 25 m   (4) 15 m 
(5) 35 m 

 
113.  In which direction is Point M with respect to Point B? 

(1) North   (2) None of these 
(3) North east  (4) South east 
(5) North west 

 
114.  If point Q is 4m to the East of point B, then which of 

the following points are in straight line? 
(1) A, B, Q  (2) H, R, Q 
(3) S, Q, N  (4) M, Q, N 
(5) None of these 

 
115.  How many pairs of letters are there in the word 

“PLEASURE” which have as many letters between 
them in the word as in alphabetical series. (Both 
forward and backward)? 
(1) None   (2) Two 
(3) Three  (4) Four 
(5) one 

 
116.  If all the odd digits in the Number “824362715975546” 

are decreased by one and all the even digits are 
increased by one, then the series is arranged in 
decreasing order from left to right, then which of the 
following digit is third to the left of the digit which is 
exactly in the middle of the series? 
(1) 5   (2) 6 
(3) 4   (4) 7 
(5) None of these 

 
Direction (117-121) study the given information carefully and 

the answer the following question below. 
 

A certain number of people sitting in a north facing 
row. Three persons are sitting between A and C. Five 
persons are sitting between F and A. Four persons sit 
between G and B. B is an immediate neighbour of C. 
G sits right of A. H is not an immediate neighbour of 
A. E sits fifth to the right of H. D sits exactly between 
F and G. At least one and not more than two person 
sits right of G. Number of person sitting in a row is not 
an odd number. Not more than five people sit right of 
A. Number of person sits between F and G is one 
more than that of number person sits between F and 
H. 

 
117.  If X sits Exactly between A and D, then what is the 

position of F with respect to X? 
(1) Second to the left (2) Third to the left 

(3) Fourth to the right (4) Fifth to the right 
(5) None of these 

 
118.  Who sits third to the right of E? 

(1) None of them sits third to right of E 
(2) C   (3) B   
(4) D   (5) A 

 
119.   How many persons are sitting in a row? 

(1) 16   (2) 20 
(3) 18   (4) 22 
(5) None of these 

 
120.  Who sits second to the right of the person who is four 

places away from C? 
(1) F   (2) G 
(3) D   (4) B 
(5) Either (1) or (2)  

 
121.  Who among the following sits at extreme end of the 

row? 
(1) B   (2) H 
(3) D   (4) A 
(5) None of them sits at extreme end of the row 

 
Direction (122-124) Study the given information carefully and 

answer the following questions. 
 

In each of the following questions some statements 
are followed by two conclusions numbered I and II. 
You have to take the given statements to be true 
even if they seem to be at variance from commonly 
known facts. Read the conclusions and then decide 
which of the given conclusions logically follows from 
the given statements. 

 
122.  Statements: Some Jupiter is Mars. 

No Mars is Sun.  All Sun is Moon. 
All Moon is Earth. 
Conclusions: I. All Mars are Earth is a possibility 
II. Some Jupiter is not Moon 
III. All Earth being Moon is a possibility 
(1) Only I follow  (2) Only I and III follow 
(3) Only I and II follows (4) All I, II and III follows 
(5) Only I follow 

 
123.  Statements: All Biscuit is Good day. 

Some Good day is Sun feast. 
No Munch is Good day. 
All Munch is Marie gold. 
Conclusions: I. All Munch being Biscuit is a possibility 
II. Some Marie gold is not Good day 
III. No Biscuit is Marie gold 
(1) Only II follow  (2) All I, II and III follow 
(3) Both II and III follow (4) None follows 
(5) Only I follow 

 
124.  Statements: Some Statements are Assumptions. 

No Assumption is True. All False is True. 
No False is word. 
Conclusions: I. No Word is Statement 
II. No False is Statement 
III. All True being Word is a possibility 
(1) Only I follow  (2) Only I and III follow 
(3) None follow  (4) All I, II and III follows 
(5) Only II follow 

 
Directions (125-126) Study the following information carefully 

and answer the questions given below. 
 
125.  Which of the following symbols should be placed in 

the blank spaces respectively (in the same order from 
left to right) in order to complete the given expression 
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in such a manner that makes the expressions E < M 
as well as N ≥ T definitely true? 
E _ T _ D _ M _ N 
(1) =, =, ≤, ≥  (2) >, ≥, =, ≤ 
(3) >, <, =, ≤  (4) <, =, =, ≤ 
(5) >, =, ≤, > 

 
126.  Which of the following should be placed in the blank 

spaces respectively (in the same order from left to 
right) in order to complete the given expression in 
such a way that makes the expression A < O 
definitely false? 
___≤___>___=___≥_____ 
(1) O,E,F,A,W  (2) W,A,F,O,E 
(3) A, O,F,W,E  (4) E,A,F, W,O 
(5) A,E,F,W, O 

 
Direction (127-131) Read the following information carefully 
 and answer the questions given below. 

 
Eight persons A, B, C, D, E, F, G and H are born in 
two different days 12 and 21 of different months 
March, June, September and December of the same 
year. They all are belongs to different Indian cities 
namely, Bangalore, Chennai, Cochin, Delhi, 
Hyderabad, Mumbai, Patna and Pune but not 
necessary in the same order. 
There are only two persons born between B and the 
one who belongs to Mumbai. H born immediately 
after the one who belongs to Patna, who does not 
born in the same month as the one who belongs to 
Mumbai born. Only one person born between A and 
the one who belongs to Hyderabad. The one who 
belongs to Cochin was born in one of the months 
which has 31 days. The number of persons born 
between E and the one who belongs to Chennai is 
same as the number of persons born between C and 
the one who belongs to Pune. Two persons are born 
between G and the one who belongs to Cochin, who 
was born after G. The one who belongs to Patna 
does not born in even numbered date. H does not 
born before B. As many persons born after the one 
who belongs to Pune is same as the number of 
persons born before F, who born in the month has 30 
days. B born in even numbered date in one of the 
month which does not has 31 days. The one who 
belongs to Delhi born after B. A does not born in 
March and elder than the one who belongs to 
Hyderabad. 

 
127.  Which of the following pairs born in December? 

(1) G, B   (2) H, F 
(3) E, C   (4) D, H 
(5) A, B 

 
128.  How many persons are born between B and the one 

who belongs to Delhi? 
(1) None   (2) One 
(3) Two   (4) Three 
(5) More than three 

 
129.  Four of the following five are alike in a certain way 

and hence form a group. Which one of the following 
does not belong to that group? 
(1) The one who belongs to Chennai  
(2) B 
(3) The one who belongs to Cochin  
(4) A 
(5) C 

 
130.  If ‘E’ is related to ‘Pune’ and ‘F’ is related to ‘Cochin’ in 

a certain way. Then ‘H’ is related to which of the 
following? 

(1) Patna  (2) Hyderabad 
(3) Mumbai  (4) Delhi 
(5) Bangalore 

 
131.  C belongs to which of the following cities? 

(1) Patna  (2) Bangalore 
(3) Mumbai  (4) Hyderabad 
(5) Cannot be determined 

 
Directions (132-133) Each of the questions below has 

question and followed by two statements I and II. You 
have to decide whether the data provided in the 
statements are sufficient to answer the question. 
Read the question and both the statements and give 
answer. 

 
132.  Five persons A, B, C, D and E having different 

heights. Who among them is the tallest person? 
Statements: 
I. A is Shorter than B and C. C is Shorter than D. 
II. Only Two persons are Taller than D. B is not the 
tallest person. 
(1) The data in statement I alone are sufficient to 
answer the question, while the data in statement II 
alone are not sufficient to answer the question. 
(2) The data in statement II alone are sufficient to 
answer the question, while the data in statement I 
alone are not sufficient to answer the question. 
(3) The data in either in statement I alone or 
statement II alone are sufficient to answer the 
question. 
(4) The data in both statements I and II are not 
sufficient to answer the question. 
(5) The data in both statements I and II are sufficient 
to answer the question. 

 
133.  Five friends P, Q, R, S and T are seated in a linear 

row facing north. Who among them is an immediate 
neighbour of S? 
Statements: 
I. One person sits between P and Q. Two people sits 
between Q and T. R sits second to the right of S. 
II. R and S are immediate neighbours. P sits second 
to the right of T. T and S are not an immediate 
neighbours. 
(1) The data in statement I alone are sufficient to 
answer the question, while the data in statement II 
alone are not sufficient to answer the question. 
(2) The data in statement II alone are sufficient to 
answer the question, while the data in statement I 
alone are not sufficient to answer the question. 
(3) The data in either in statement I alone or 
statement II alone are sufficient to answer the 
question.  
(4) The data in both statements I and II are not 
sufficient to answer the question. 
(5) The data in both statements I and II are sufficient 
to answer the question. 

 
Directions (134-136) Study the given information carefully and 

answer the following questions. 
 
‘A $ B’ means ‘A is brother of B’  
‘A % B’ means ‘A is father of B’  
‘A × B’ means ‘A is wife of B’  
‘A – B’ means ‘A is sister of B’  
‘A & B’ means ‘A is mother of B’ 

134.  In the given relation, ‘D%G – H&L$E×C%U’, If X is 
married to L, then how X is related to C?  
(1) Brother-in-law  (2) Sister- in-law 
(3) Sister   
(4) Relation cannot be established 
(5) Father 
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135.  In the given relation ‘W- Z$ H %G ×Q %O’, If A is 
married to W and P is the son of A, then how G is 
related to P?  
(1) Sister  (2) Nephew 
(3) Cousin  (4) Niece 
(5) Cannot be determined 

 
136.  Introducing a man. Gopal said, "His wife is the only 
 daughter of my wife." How is Gopal related to that 
 man? 
 (1) Son   (2) Grandfather  
 (3) Father-in -law  (4) Father 
 (5) Can't be determined    
 
Direction (137-138) Study the following information carefully 
 to answer the given questions. 

 P × Q means P is father of Q 
 P ÷ Q means P is daughter of Q 
 P + Q means P is sister of Q 
 P – Q means P is husband of Q 
 
137.  In Mani ÷ Nithya × lavi – Pavi, How lavi related to 
 Mani? 
 (1) Brother  (2) Son –in-law  
 (3) Father  (4) Son  
 (5) Daughter 
 
138.   In Geetha×Tanu+surya÷Mani, how is Mani related to 
 Geetha? 
 (1) Mother  (2) Sister  
 (3) Wife   (4) Daughter  
 (5) Brother 
 
139.  Of the 5 friends A, B, C, D and E situated close to 
 each other, A is to the west of B, C is to the South of 
 A, E is to the north of B and D is to the east of E. 
 Then C is in which direction with respect to D? 
 (1) South - east  (2) South - west  
 (3) North-west  (4) North - east  
 (5) Cannot be determined 
 
140.  If all consonant are changed to previous letter and all 
 vowels are changed to next letter from the word 
 “COMPUTER” and obtained newly word are 
 rearranged in alphabetical order from right to left, then 
 how many words are there between fourth letter from 
 left end and third letter from right end in English 
 alphabetical series after rearrangement? 
 (1) Six   (2) Three    
 (3) Five     (4) Two   
 (5) One 
 
Directions (141-145) Study the following information carefully 
 and answer the questions given below. 

 Eight persons P, Q, R, S, T, U, V and W are sitting in 
 a circular table facing center. 
 Only one person sits between U and T. P sits third to 
 the right of T. Q is not an immediate neighbor of P 
 and sits second to the right of V. R sits opposite to V. 
 W is not an immediate neighbor of V. 
 
141.  Who sits to the immediate left of S? 
 (1) P   (2) U  
 (3) R   (4) Q  
 (5) None of these 
142.  Who sits second to the left of the one who sits 
 opposite to P? 
 (1) Q   (2) U  
 (3) V   (4) R  
 (5) None of these 
 
143.  Who among them are the immediate neighbors of T? 

 (1) P, R   (2) P, V  
 (3) S, W   (4) R, Q  
 (5) None of those given as option 
 
144.  What is the position W with respect to Q? 
 (1) Second to the left (2) Immediate left  
 (3) Third to the Right (4) Second to the right 
 (5) None of these 
 
145.  Four of the five among the following are similar in 
 such a way to form a group, which one of the 
 following doesn’t  belong to the group? 
 (1) Q, R   (2) S, U  
 (3) P, V   (4) V, Q  
 (5) W, P 
 
Directions (146-150) Study the following information carefully 
 and answer the questions given below. 
 
 Seven people viz. T, L, F, D, M, S and P live in 
 different floors of the same building. Each of them has 
 expertise in a specific subject viz. SQL, HTML, 
 English, VB.net, PPT, Physics and Accountancy but 
 not necessarily in the same order. The ground floor is 
 numbered 1; the floor immediately above it is 
 numbered 2; and so on till the top-most floor which is 
 numbered 7. 
 M is not the English expert. The one who is an expert 
 in PPT, lives in floor numbered 3. F lives in floor 
 numbered 5. S is an expert in SQL. Physics expert 
 lives immediately above the floor of the Accountancy 
 expert. P doesn't live in any of the even numbered 
 floor. D likes either HTML or VB.net. D lives below P 
 with a gap of two floors in between them. L lives in 
 one of the floors below T's floor. P doesn't know 
 either Physics or HTML while F doesn't know 
 Accountancy. The one, who is an English expert lives 
 above T's floor with a gap of two floors in between 
 them. 
 
146.  Who is the expert in Accountancy? 
 (1) T   (2) L 
 (3) M   (4) P 
 (5) Can't be determined 
 
147.  Who is living immediately above the floor in which 
 PPT expert is living? 
 (1) D   (2) English expert 
 (3) HTML expert  (4) F  
 (5) Both (1) and (3) 
 
148.  P is an expert in which subject? 
 (1) VB.net  (2) English  
 (3) HTML  (4) Physics  
 (5) Accountancy 
 
149.   How many floor(s) are between the floor in which S 
 and the Physics expert is living? 
 (1) Five   (2) Three  
 (3) Four   (4) Two  
 (5) One 
 
150.   In which floor is the English expert living? 
 (1) 6th floor  (2) 5th floor  
 (3) 4th floor  (4) 7th floor  
 (5) None of these 
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English Language 
Ans.1(2) By ensuring that pipes and taps don’t leak so 

that water remains free of contamination. 
Ans.2(5) All of the above 
Ans.3(4)         All except 2 
Ans.4(3) They have focused on changing process so that 

least possible quantity of water is brought to 
use. 

Ans.5(4)       There may be abundant water available but one 
should have money to afford it   

Ans.6(2) In ancient times, the rainfall was not sufficient 
near deserts and therefore people had scarcity 
of water. 

Ans.7(5) Predictable 
For other options: 
Dormant (adj)- inactive 
Vibrant (adj)- alive 

Ans.8(4) 
Ans.9(3)    Purification 

For other options: 
Transmission (n)- transportation 

Ans.10(1)     Overlooked 
For other options: 
Substantiated (v)- confirmed 

Ans.11(3) Option C is grammatically correct. 
Ans.12(4) Option D is grammatically correct. 
Ans.13(5) Usage done in given question is grammatically 

correct. 
Ans.14(5) Usage done in given sentence is grammatically 

correct. 
Ans.15(2) Option B is grammatically correct. 
Ans.16(4) ‘known for’ is correct usage. 
Ans.17(5) The given sentence is correct. 
Ans.18(3) ‘barely’ is correct usage. 
Ans.19(3) ‘exemplified’ is correct usage. 
Ans.20(2) ‘reported a’ is correct usage. 
Ans.21(5)  Building 

For other options: 
Deteriorating (v)- decaying 
Segmenting (v)- segregating 

Ans.22(1)    Alleviation 
For other options: 
Bifurcation (n)- division 
Publicizing (v)- making known 

Ans.23(4)  achieve 
Ans.24(2)  Stay 

For other options: 
Anticipate (v)- expect 

Ans.25(3)  
Ans.26(4)  Boost 

For other options: 
Fright (n)- apprehension 
Vexation (n)- annoyance 

Ans.27(1) 
Ans.28(5)  Paralyses 

For other options: 
Revolutionizes (v)- transforms 
Hones (v)- makes better 

Ans.29(3)  Revival 
For other options: 
Suppression (n)- abolishment 
Deviation (n)- change 
Mourning (n)- sadness 

Ans.30(2)  Generation 
   For other options: 
  Replacement (n)- substitute 
  Agenda (n)- program 
Ans.31(1) According to the sentence “deception” will be 

 used as it means “ ”.cheat, fraud, bluff etc  

Ans.32(2) According to the sentence “constituency” will be 
 used as it means “a body of voters in a specified 

 area who elect a representative to a legislative 
 body.” 
Ans.33(3) According to the sentence “aggregated” will be 

 used as it means “ ”.agglomerated, acervuline etc  

Ans.34(4)  According to the sentence “precludes” will be 

 used as it means “ inhibit, prevent, stop, clog,  

 fend etc”. 

Ans.35(5) No change required  
Ans.36(1) According to the sentence “coalition” will be 

 used as it means “ league, union, organization,  

 syndicate, club etc”. 

Ans.37(2) According to the sentence “demonstrated” will 

 be used as it means “ proved, certified,  

 established, vouched etc”. 

Ans.38(3) According to the sentence “legitimacy” will be 

 used as it means “validity, legality, vigor, vigour 

 etc”. 

Ans.39(4) According to the sentence “probably” will be 

 used as it means “ presumably,perhaps, maybe,  

 perchance, obviously etc”. 

Ans.40(5) No change required  
Ans.41(5) According to the passage Bishkek does India 
 see as a Ray of Hope to deal with its 
 neighboring countries. 
Ans.42(1) inducted means Introduce. 
Ans.43(3) In 2017 India and Pakistan were given the 
 membership of SCO. 
Ans.44(2) The statement that, ‘SCO members are aiming 
 at eliminating from the world’ is not true. 
Ans.45(3) RIVEN = divide, fray, rend  
 so apposite word will be united. 
Ans.46(4) IMPASSE = deadlock, dilemma, gridlock,  
 Predicament 
Ans.47(3)  Russia is not a member of SCO. 
Ans.48(5) contestations = argument, contention, contest  
Ans.49(5)  “curbing” = constrain, contain, control, hamper 
 So, encourage is opposite of curbing. 
Ans.50(1) Proximity means closeness. So, antonyms of 
 proximity is distance.  

Quantitative Aptitude 

Ans.51(3) Number of Two wheelers sold by Honda in 2007 
  = 400 – (43×600/100) 
 = 400 – 258 
 = 142 

 Number of Two wheelers sold Honda in 2008= 
142+200= 342 
 Number of Two wheelers produced by Honda in 
2008 

 = 342×(100/40) 
 = 855 Two wheelers 
Ans.52(2) Number of Two wheelers sold by Hero in 2009 
 = 480×(15/100) = 72 
 Number of Two wheelers sold by Hero in 2010 
 = 72×(9/8) = 81 
 Required percentage= 81×(100/680)= 12% 
Ans.53(3) Number of Two wheelers sold in 2007: 
 x×(15/100) + (x+200)×(40/100)= 630 
  15x/100 + 40x/100 + 80= 630 
  (15x+ 40x)/100= 630- 80 
  55x= 550×100 
  x= 1000 Two wheelers 
 So, 
 Number of Two wheelers sold in 2009 
 = (1000+200)×(40/100) 
 = 480 Two wheelers 
Ans.54(4) Number of Two wheelers sold by Honda in 2010 
 = 900×30/100 
 = 270 Two wheelers 

http://bit.ly/TesMusPrime
https://tesmus.com/
https://www.thesaurus.com/browse/divide
https://www.thesaurus.com/browse/fray
https://www.thesaurus.com/browse/rend


IBPS SO PRE 2023                                                                     TEST ID – ISP-881361749 

 

 

 

 

App :- http://bit.ly/TesMusPrime                       2 | P a g e                 Web :- https://tesmus.com  

 Number of Two wheelers sold by Honda in 2007 
 = 270×110/100 
 = 297 Two wheelers 
 Number of Two wheelers sold by Honda in 2008 
 = 297×8/9 
 = 264 Two wheelers 

 Number of Two wheelers produced by Honda in 
2008 

 = 264×100/40 
 = 660 Two wheelers 
Ans.55(2) Total Two wheelers produced = 200×3= 600 
 Number of Two wheelers sold M in 2008 
 = 600- 60% of 450 – 43% of 600 
 = 600 – 270 - 258 
  = 72 
 Two wheelers produced in 2008= 72×100/20 
 = 360 
 Required percentage= 360×100/450 
 = 80% 
Ans.56(1)  (36/100)×420 – (56/100)×350 = x – 112 – 3025 
 151.2 – 196 + 112 + 3025 = x 
 x = 3092.2 
Ans.57(4)  (53/3)×180 + (1/4)× 480 = x 
 3180 + 120 = x 
 x = 3300 
Ans.58(3)  (9801/121) × 6.5 = (x/6) 
 81 × 6.5 × 6 = x 
 x = 3159 
Ans.59(2) 56 × 12 – 48 × 896 ÷ 112 = x 
 672 – 384 = x 
 x = 288 
Ans.60(3)  (8/3) × (11/3) ×(x/11) = (8/3) ×(7/5)×(6/7) 
 (x/3) = (6/5) 
 x = 18/5 
 x= 3.6 
Ans.61(2) We know that, 
 Area of a circle = πd2 /4 
 Where, d = Diameter of the circle 
 ⇒ a = πc2 /4 
 Also, Circumference of the circle = πd 
 ⇒ b = πc 
 a/bc = (πc2 /4)/πc2 = 1 : 4 
Ans.62(4) The unit digit in 341 98 is one since one power is 

always 1 
 Similarly for 211 59 is also one 

 The unit digit for 45100 is five since five power 
any number is always 5 

 Similarly for 10535 is also five 
 ∴By adding units digits of the numbers, we get 
 = 1 + 1 – 5 + 5 – 4 + 9 
 = 7 
Ans.63(2)  Let the marked price (M.P.) of the article be Rs. 

x. 
 Selling price of the article = x – (15% of x) 
 ⇒ 255 = x – 0.15x 

 ⇒ x = 255/0.85 = Rs. 300 

 ∴The listed price of the article = Rs. 300 
Ans.64(2) Let two student appeared in exam are A and B. 

 One of them secured 19 marks more than the 
other and his marks were 60% of the sum of 
their marks. 

 60% of (A + A + 19) = A + 19 
 0.6 × (2A + 19) = A + 19 
 1.2A + 11.4 = A + 19 
 0.2A = 7.6 
 A = 38 
 B = A + 19 = 57 

 Therefore marks obtained by them are 57 and 
38. 

Ans.65(5) Distance travelled by the train = Speed × Time 
 ⇒ Distance = 90 × 9 = 810km        --- (1) 
 Twice the distance = 810 × 2 = 1620 km --- (2) 
 Half the time = 9/2 = 4.5 hours   ---(3) 

 The speed of the train to cover twice the 
distance in half the time = 1620/4.5 = 360 km/h 

 Thus, required speed of the train is 360km/h. 
Ans.66(2) The pattern is, + (86×1), + (86×2), + (86×3), + 

(86×4).... 
Ans.67(4)  The pattern is,+(1×4),+(2×8),+(3×12), +(4×16).... 
Ans.68(4) – 66, – 55, – 44, – 33, – 22 
Ans.69(1)  The pattern is, ×1 + 22, ×2 + 32, ×3 + 42, ×4 + 

52.... 
Ans.70(2) The difference of difference is, 7, 14, 21, 28.... 
Ans.(71-76) Clarksville: 

 Number of females applied for UG graduation 
= 100 = 25% of total females 

 Total females = (100/25)×100 = 400 
 Total number of males applied for UG 
graduation = 550-100 = 450 
 Number of males applied for UG graduation 
= 75% of total males 

  450 = 75% of total males 
 (450/75)×100 = 600 
 (i.e.) Total number of males=600 
 Sirru: 

 Total males = 2× Total males in Clarksville  
= 2×600 = 1200 

 Total students = (1200/3)×5 = 2000 
 Total females = (2000) × 2/5 = 800 

 Number of males applied for UG graduation 
= 1200/2 =600 
 Number of females applied for UG graduation 
= 800/2 =400 

  
Ans.71(2) Required percentage = (400/450)×100 
  =88.89% 
Ans.72(3) Required ratio = 300: 600 =1: 2 
Ans.73(4) Required difference = 2000 – 1000 = 1000 
Ans.74(5) Required percentage = [(800-600)/800] × 100 
 = (200/800)×100 
 = 25% 
Ans.75(3) Required total = 150+300+600+400 = 1450 
Ans.76(1) Required ratio = (150+600): (100+400) 
 = 750: 500 
 = 3: 2 
Ans.77(2) Let A = x days            B = x+10 days 
 A+B = (1/x)+1/(x+10) = 1/9(3/8) 
 1/x+ 1/(x+10) = 8/75 
 (x+x+10)/(x2+10x) = 8/75 
 (2x+10)×75 = 8(x2+10x) 
 75x+375 = 4x2+40x 
 4x2-35x-375 =0 
 After simplifying the above equation, we get 
 x= 60/4, -25/4 
 x= 15, -25/4 (Eliminate the –ve value) 
 x= 15 days 
 A = 15 days and B = 25 days 
 Efficiency ratio of A and B = 1/15: 1/25 = 5:3 
Ans.78(2) Given, 

 Cost price (C.P) of 25 crates of oranges  
= Rs. 20,000 

 The man lost 10 crates of oranges. 
 ⇒ 40 crates of oranges are left. 
 Total profit = 25% of 20000 = Rs. 5000 

 ⇒ S.P. of the remaining crates of oranges  
= 20000 + 5000 = Rs. 25000 
 ⇒ S.P. of each of the remaining crates  
= 25000/40 = Rs. 625 

Ans.79(3) Profit ratio of Kanna and Krishna = 18000×12: 
24000× x = 3: 1 
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 (18000×12)/(24000×x) = 3/1 
 x =3 months 

 Kanna alone run the business 9 ((i.e.)12-3=9) 
months. 

Ans.80(5) C’s one day work = 1/8 – 1/24 -1/36 = (9-3-2)/72 
 = 4/72 
 = 1/18 

 Let us take the number of days to finish the 
whole work be x 

 Given, 
 x/24 + (x-3)/36 +(x-3)/18 =1 
 (3x+2x-6+4x-12) =72 
 9x -18 =72 
 9x =90 
 => x=10 days 
Ans.81(4) Required difference = (48+56+80+96+125)  
 – (72+60+45+120+54) 
 = 405 – 351 = 54 
Ans.82(3) Required total = 120× (125/100) = 150 
Ans.83(4) Required ratio = (48+72+80+45+96+120): 

(56+60+80+45+96+120) 
 = 461: 457 
Ans.84(1)  Required percentage  
 = [(72+60+45) / (96+125)]×100 
 = [177/221]×100 
 = 80% 
Ans.85(5) Required percentage  
 = [(48+72+56+60)/(80+45+96+120)]×100 
 = [236/341]×100 
 = 69.21% 
Ans.(86-90) Let the ratio of quantity of all sweets be 10x: 9x: 
 6x 
 Total C.P of Badusha = 8640 
 C.P of Badusha per kg = 360 
 Quantity of Badusha =8640/360 = 24 
 (i.e.) 6x = 24-----à x=4 
 Quantity of Laddu = 10x = 10×4 = 40 
 Quantity of Jamun = 9x = 9×4 =36 
 C.P of Badusha =360    Profit%= 25% 
 S.P=(100+Profit%)/100 ×C.P 
 Therefore, S.P = (100+25)/100 × 360 = 450 
 S.P of Badusha = 450 
 By selling Badusha at a discount of 10%, we get 
 marked price as follows 
 M.P = (100/(100-discount%))×S.P  
 = (100/90)×450 = 500 
 Therefore, M.P of Badusha = 500 
 Since, S.P>C.P, there is profit of Rs 90.        
 [profit=S.P-C.P] 
 Marked price of Jamun= 600 
 On selling Jamun, John earned Rs.15 less profit 
 than Badusha 
 So, Profit of Jamun=Profit of Badusha-15  
 = 90-15 = 75 
 By selling Jamun at 20% discount, 
 S.P= ((100-discount%)/100)×M.P= (80/100)×600 
 = 480 
 So, S.P of Jamun=480 
 Then C.P=S.P-profit=480-75=405 
 (i.e.) C.P of Jamun=405 
 John buys all the sweet at Rs.47220 
 So the total C.P of all sweets= 47220 
 (C.P of Laddu × 40) + (405×36) + (360×24)  
 = 47220 
 (C.P of Laddu × 40) = 24000 
 C.P of Laddu = 600 
 John earned a total profit of Rs.3615 
 (Profit of Laddu × 40) + (75×36) + (90×24)  
 = 7460 
 Profit of Laddu × 40 = 2600 
 Profit of Laddu = 65 
 S.P of Laddu = C.P + Profit=660+65 =665 

 Marked price of Laddu is 40% above C.P of 
 Laddu 
 M.P=(140/100)×600 = 840 
 M.P of Laddu = 840 
  Finally, 

  
Ans.86(4) C.P of Badusha=360 
 S.P of Badusha=450 
 Discount %=10 
 New S.P of Badusha={(100-10)/100}×450=405 
 Since S.P>C.P, there is gain. 
 Therefore Gain percentage  
 =[(S.P-C.P)/C.P]×100= [(405-360)/360]×100 
 = 12.5% 
Ans.87(2)  Total quantity of sweets=40+36+24=100Kg 
Ans.88(2) Total C.P of Jamun=36×405=14580 
 Total S.P of Jamun=30×480=14400 
 Since C.P>S.P, then there is loss 
 Therefore Loss% = [(C.P-S.P)/C.P]×100 
 = [(14580- 14400)/14580]×100=1.23% 
Ans.89(4) C.P of Badusha=360 
 M.P of Badusha=500 
 Required percentage=[(500-360)/500]×100=28% 
Ans.90(1)  Required ratio=600:230 = 60: 23 
Ans.91(1)  Let the correct weight be 1 Kg. 
 Also let CP of 1 h gm be Rs 1. 
 Now Quantity purchased by the seller=1200gm 
 And Quantity sold by the seller=800 gm 
 Thus we have SP of 800g=CP of 1200g 
 (i.e.) SP of 800g=Rs 1000 
 Then CP of 800g=(1000*800)/1200 
 = Rs 667 
 Thus profit earned by selling 800g 
 = 1000-667=Rs 333 
 Hence profit percentage=(333/667)*100 
 = 49.92% 
Ans.92(4)  Remaining Milk in the vessel=60(1-6/60)2 
 = 60(1-1/10)2 
 = 48.6 liters 
 Hence required ratio=48.6: 60 
 = 81:100 
Ans.93(5)  Let length and Width of the inner boundary be x 
 and y respectively 
 Given that area of the garden=640m2 
 (i.e.) xy=640m2……………… (1) 
 Now length of outer boundary path=x+6 
 And width of outer boundary path=y+6 
 Hence Area of garden including path 
 =(x+6)(y+6)=916 
 (i.e.) xy+6x+6y+36=916…………………. (2) 
 From (1) and (2), we have 
 640+6x+6y+36=916 
 x+y=40 
 Thus perimeter of the garden=2(x+y)=80m 
Ans.94(4) Let the pump A fills 4x liters per day. 
 Then Pump B will fill 5x liters per day and pump 
 C will fill 6x liters per day. 
 Also pump D will fill 8x liters per day. 
 Let total capacity of tank be 15x liters. 
 Then time taken by A and B to fill the tank 
 together = 15x/(9x)=15/9 days 
 Similarly time taken by B and D to fill the tank 
 together = 15x/(13x)=15/13 days 
 Hence required ratio=15/9: 15/13 
 = 13:9 
Ans.95(1) Let SP of the bag be 100% 
 After giving discount, 
 SP=100×(90/100)×(80/100)×(105/100) 
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    = 75.6% 
 Thus, required percentage=100-75.6=24.4% 
Ans.96(2) 450.64 + 1288.52 + 638.12 – 352.28 = (?)2 
 2025 = (?)2 
 45 =? 

Ans.97(5) 1
2

7
  + 9 

6

35
   – 8 

3

7
  = (?) 

 2 (6/35 -1/7) =? 
 2 (1/35) =?  
Ans.98(3) 7890.6+46550.54+452.54+885.46=?+5779.14 
 50000 =? 
Ans.99(2) (√648 ÷ 32) × (√225 ÷ 45) = ? ÷ 48 
 3/16 × (48) =? 
 9 =? 
Ans.100(1) 90% of 320 + 58% of 4200 = ?% of 7200 
 288 + 2436 = 72 ×? 
 2724/72 =? 
 227/6 =? 

Reasoning Aptitude 

Ans.101(2) English- ch 
 Novel- gl/bt 
 is- nm 
 Good- bt/gl 
 Get- ms 
 Prize- sr 
 Precious- qm 
Ans.(102-106) 
  

Ans.102(4)  
Ans.103(2) 
Ans.104(5) 
Ans.105(1) 
Ans.106(2) 
Ans.(107-111) 

  
Ans.107(3) 
Ans.108(2) 
Ans.109(4) 
Ans.110(2) 
Ans.111(1) 
Ans.112(3) 

  
 SN=√(242+62)≈ 25 m 
Ans.113(5) 
Ans.114(2) 
Ans.115(2) 

  
Ans.116(2) 824362715975546 – 935273604864457(Odd 

number -1, Even number +1) 
 The series is arranged by decreasing order from 
left to right – 987766554443310(third to the left 
of the number which is exactly middle in the 
series) 

Ans.(117-121) 

   
Ans.117(5) 
Ans.118(1) 
Ans.119(3) 
Ans.120(5) 
Ans.121(2) 
Ans.122(2) 

  
Ans.123(1) 

   
Ans.124(3) 

  
Ans.125(4) a) E=T =D≤M≥N--False 
 b) E>T ≥D =M≤N --False 
 c) E>T<D =M ≤N--False 
 d) E<T =D =M ≤N --True 
 e) E>T =D≤M>N--False 
Ans.126(2) a) O ≤ E > F = A ≥ W 
 b) W ≤ A > F = O ≥ E 
 c) A ≤ O > F = W ≥ E 
 d) E ≤ A < F = W ≥ O 
 e) A ≤ E > F = W ≥ O 
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Ans.(127-131) 

  
Ans.127(4) 
Ans.128(3)  
Ans.129(1) 
Ans.130(4) 
Ans.131(2) 
Ans.132(5) Statement: I 

 A is Shorter than B and C. C is Shorter than D. 
We have four possibilities, 

 (I) D>B>C>A, 
 (II) B>D>C>A, 
 (III) D>C>A>B, 
 (IV) D>C>B>A 
 Statement: II 

 Only Two persons are Taller than D. B is not the 
tallest person. Form this we can cannot 
conclude who is tallest person. But if we 
combine both statement I and statement II we 
can conclude E is the tallest person among the 
group. 
 Second possibility in case 1 is only valid for 
second statements. So the final arrangement is 
E>B>D>C>A 

Ans.133(4) Statement: I 
 One person sits between P and Q. Two people 
sits between Q and T. R sits second to the right 
of S. From this statement we get two possible 
cases. So we cannot conclude who is immediate 
neighbour of S 

 
 Statement: II 

 R and S are immediate neighbours. P sits 
second to the right of T. T and S are not an 
immediate neighbours. From this statements we 
can get the given arrangement .So statement II 
only is sufficient to answer the question. 

  
Ans.134(4)  We cannot establish the relation between X and 

C. 

  
 

Ans.135(3)  

  
Ans.136(2) 
Ans.137(1) 

  
Ans.138(3) 

  
Ans.139(2) 

  
Ans.140(2) Given word = “COMPUTER” 
 After interchanging letter of the word we get  
 = “BPLOVSFQ” 
 After rearranging letters of word in alphabetical 
 order from right to left we get: 
 New word = “VSQPOLFB”. 
 Thus, fourth letter from left end -> P 
 Third letter from right end -> L 
 Thus, letters between ‘L’ & ‘P’-> 3 
 Hence, option B is correct choice. 
Ans.(141-145) 

   
Ans.141(1) 
Ans.142(3) 
Ans.143(4) 
Ans.144(3) 
Ans.145(5) 
Ans.(146-150) 
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Ans.146(2) 
Ans.147(5) 
Ans.148(1)  
Ans.149(2) 
Ans.150(2) 
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                                               INSTRUCTIONS TO CANDIDATE 
 

 

iz'uksa dks gy djus ls igys fuEufyf[kr funsZ'kksa dks /;ku ls i<+saA 

 

(1) bl iqfLrdk esa 150 ç'u gSa] tks fd dqy rhu Hkkxkas esa foHkkftr gSaA 
 Hkkx- (I)  :  English Language       (50 iz'u) 
 Hkkx- (II)  : Quantitative Aptitude      (50 iz'u) 
 Hkkx- (III) : Reasoning Aptitude      (50 iz'u) 

 (2) lHkh ç'u vfuok;Z gSa rFkk lcds cjkcj vad gSaA 

 (3) ç'uksa dks gy djuk çkjEHk djus ls igys vkidks bl iqfLrdk dh tkap djuh pkfg, vkSj ;g lqfuf'pr djuk pkfg, fd blesa lHkh 

 i`"B mifLFkr gSa vkSj dksbZ i`"B de ;k cnyk gqvk ugha gSA vxj vkidks bl iqfLrdk esa dksbZ nks"k feyrk gS] rks  vkidks rqjar bls 

 cnyuk gksxkA 

 (4) çR;sd ç'u esa udkjkRed vadu gksrk gS D;ksafd çR;sd xyr mÙkj ds fy, 0-25 vad dkV fn;k tk,xkA 

 (5) vkidks fujh{kd }kjk mÙkj iqfLrdk vyx ls nh tk,xhA vkidks ç'uksa dks gy djuk çkjEHk djus ls igys viuk uke] jksy uacj] 

 VsLV uke @vkbZMh vkSj@ijh{kk dk uke mÙkj&iqfLrdk ij lko/kkuhiwoZd iwjk djuk gksxkA vkidks mÙkj&iqfLrdk esa fu/kkZfjr 

 LFkku ij viuk gLrk{kj Hkh djuk gksxkA bu funsZ'kksa dk iwjh rjg ls ikyu fd;k tkuk pkfg,] ftldks u djus ij vkidh 

 mÙkj&iqfLrdk dk ewY;kadu ugha fd;k tk,xk vkSj vkidks ^'kwU;^ vad fn;k tk,xkA 

 (6) mÙkj dsoy isafly ;k CySd@Cyw c‚y isu }kjk mÙkj& iqfLrdk çklafxd ç'u la[;k ds lEcaf/kr xksys dks iwjh rjg ls CySd 

 djds fn[kk;k tkuk pkfg,A 

 (7) OMR mÙkj iqfLrdk  dks ,d e'khu }kjk tkapk tk;sxkA ;fn fdlh fLFkfr esa miyC/k tkudkjh] vkosnu i= esa nh x;h  tkudkjh 

 ls vyx ik;h x;h] rks vkosnd dk vkosnu fujLr dj fn;k tk;sxkA 

 (8) fujh{kd dh vuqefr feyus ds ckn gh dksbZ ijh{kk d{k NksM+ ldrk gSA 

 (9) mijksä esa ls fdlh Hkh funsZ'k dk vuqikyu djus esa foQy mEehnokj dks mi;qä  dk;Zokgh@tqekZuk ds fy, mÙkjnk;h le>k tk 

 ldrk gSA  

 (10) ftruh tYnh gks lds mruh tYnh vkSj lko/kkuh ls ç'uksa dk mÙkj nsaA dqN loky dfBu gks ldrs gSa vkSj nwljs vklku gks 

 ldrs gSaA fdlh Hkh ç'u ij T;knk le; ugha fcrk,aA 

 (11)  eksckby Qksu vkSj ok;jysl lapkj midj.k] ijh{kk d{k@dejs esa iwjh rjg ls çfrcaf/kr gSaA dksbZ Hkh vkosnd vius eksckby 

 dk ;k fdlh ok;jysl lapkj midj.k dks can djds Hkh vius ikl ugha j[k ldrkA fu;e dk mYya?ku djus ij vkosnd ds fo:) 

 mfpr dk;Zokgh dh tk;sxh vkSj mldk vkosnu Hkh fujLr fd;k tk ldrk gSA  

 (12)  mÙkj&i= ij dksbZ jQ dke ugha fd;k tkuk pkfg,A  

 (13)  dksbZ Hkh mEehnokj ijh{kk iwjk gksus ls igys ijh{kk d{k ugha NksM+ ldrk gSA 

 

 

 

 

 

tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa 

  

vf/kdre vad % 125 

dqy ç'u         % 150  

fu/kkZfjr le; % 120 feuV 

 

Maximum Marks :
 100 

Total Questions :
 100 

Time Allowed :   90 Min. 
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fnuk¡d :.................. ijh{kk dksM ................................ 
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English Language 

Direction (1-10) Read the following passage carefully and 
answer the questions given below it certain words are 
given in bold to help you locate them while answering 
some of the questions. 

 
 Water is the very elixir of life, a precious commodity 

gifted by nature. Its worth is known only when it is 
scarce. Thus, it is essential to conserve water. 
Keeping in mind the Supreme Court’s ruling that 
“natural resources meant for public use cannot be 
converted to private ownership,” a few States, 
including Chhattisgarh and Kerala, which had planned 
to sell river waters on a commercial basis to 
industries had to abandon the proposal. 
Similarly, leasing out rivers and reservoirs for fishing 
or other commercial activity too had to be put on hold. 
Privatization of water supply is a sensitive issue, as 
also the price charged for water consumed. 
About 90 per cent of the water available goes for 
agricultural and industrial use, thus leaving about 10 
per cent for human consumption. Changes in 
agricultural practices could help conserve water. For 
example, the use of sprinkler and drip irrigation can 
reduce water consumption by over 30 per cent. Using 
drought-resistant seeds will ease the water burden. 
Instead of growing water-intensive crops like 
sugarcane, farmers are switching to alternative 
agricultural and horticultural products which demand 
less water. 
Industries are seeing the advantage of changing 
processes to make them less water-intensive. A 
recycling plant at the Bangalore railway station reuses 
water after proper cleaning, thus effecting savings. 
Recycled water is being offered in the Bangalore 
industrial area at a lower rate to encourage more 
industries to opt for recycled water to save costs and 
conserve water. Moreover, some of them have 
started recycling to reduce water consumption. 
A city like Singapore, which imports water, recycles 
water and encourages individuals and industry to use 
such water for non-potable purposes. In 
the foreseeable future, such recycled water could be 
used even for drinking, when people’s mind set 
changes. 
Some cities have laid down mandatory rules to 
harvest groundwater. However, it is no longer ‘free’. A 
permit is required to drill a bore-well. Moreover, 
what’s needed is to levy a charge for extracting 
groundwater, which is community property. Rainwater 
harvesting is catching on, and is mandatory in cities 
and towns. Urban water supply is plagued by leaks 
and contamination. Maintaining pipes and taps 
properly could go a long way in conserving water. 
Drought-prone areas have realized the advantage of 
rainwater harvesting. This is an ancient practice 
followed by ancient civilizations near the deserts 
where the rainfall was meager and tended to run off 
wastefully. Mini bunds, increasing storage capacity of 
village tanks and planting trees are all aimed at 
harvesting rain when it occurs. A few villages in 
Madhya Pradesh, Maharashtra and Rajasthan have 
demonstrated how scanty rainfall could be utilized 
better through run-off prevention and charging 
underground water springs. 
Water Poverty Index(WPI) is a measure that 
combines indices of water availability and access with 
indices of people’s capacity to pay. There may be 
abundance of water but not paying capacity for water 
use. In general, water poverty is related to income 
poverty, the WPI is inseparable from Human 
Development Index (HDI) where we rank abysmally 

low compared even to developing countries like 
Thailand. 
The poor have no reason to ‘feel good’ given such a 
hopeless situation where there is a daily, relentless 
struggle to access clean water at an affordable price. 

 
1.  How, according to the passage, can conservation of 

water, be achieved in urban areas? 
(1) People should focus on finding ways to ensure 
economical use of water 
(2) By ensuring that pipes and taps don’t leak so that 
water remains free of contamination. 
(3) Trees or plants should be watered only once a 
day. 
(4) Awareness drives should be conducted to inform 
people about rainwater harvesting. 
(5) Not mentioned in the passage 

 
2.  Which of the following is TRUE in the context of the 

passage? 
(1) Rainwater harvesting has been made mandatory 
in cities and towns. 
(2) Measures of conserving water should be found out 
because it is a limited natural resource. 
(3) Levying a charge for extracting groundwater is 
essential because it is community property 
(4) The author has sympathized with the poor as they 
struggle on a regular basis to get clean  water at an 
economical price. 
(5) All of the above 

 
3.  Which of the following measures has/ have been 

suggested to harvest rain? 
(1)  Have water tanks of increased capacity in villages 
(2)  Purifying water    
(3)  Plant more and more trees. 
(4)  Mini bunds 
(1) Only 2   (2) Only 3      
(3) Only 3 and 4  (4) All except 2 
(5) All except 4 

 
4.  How have industries contributed towards the 

conservation of water? 
(1) Industries have started programmers to impart 
knowledge about it. 
(2) Industries have been focusing on ways to find 
alternative of water as a resource to be used in daily 
lives. 
(3) They have focused on changing process so that 
least possible quantity of water is brought to use. 
(4) They have started funding research programmers 
which concern conservation of water. 
(5) They have not contributed towards it. 

 
5.  How is water poverty related to income poverty?' 

(1) Those who belong to low income group can afford 
pure water easily. 
(2) Income ensures education and awareness for 
purity of water. 
(3) Poor people are deprived of all the basic 
amenities including water. 
(4) There may be abundant water available but one 
should have money to afford it 
(5) Not clearly explained in the passage 

 
6.  Which of the following has been stated about the 

origin of rainwater harvesting? 
(1) Rainwater harvesting is a modern concept and 
was though of knowing the demand for water. 
(2) In ancient times, the rainfall was not sufficient near 
deserts and therefore people had scarcity of water. 
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(3) It is an ancient concept and was used when water 
was abundant but was not being used for   the benefit 
of mankind 
(4) Only 2 and 3 
(5) Nothing has been stated about rainwater 
harvesting. 

 
Direction (7-8) Choose the word which is most nearly the 

SAME in meaning as the word printed in bold as used 
in the passage. 

 
7.  Foreseeable 

(1) Stable    (2) Dormant   
(3) Vibrant  (4) Volatile     
(5) Predictable 

 
8.  Relentless 

(1) Alternative      (2) Ferocious  
(3) Practically  (4) Never ending  
(5) Agile 

 
Direction (9-10) Choose the word which is most nearly the 

OPPOSITE in meaning as the word printed in bold as 
used in the passage. 

 
9.  Contamination 

(1) Suspension       (2) Mention           
(3) Purification  (4) Transmission  
(5) Pollution 

 
10.  Realized 

(1) Overlooked     (2) Performed        
(3) Substantiated  (4) Improved      
(5) Stated 

 
Direction (11–15) Which of the phrases (1), (2), (3), (4) given 

below each sentence should replace the phrase 
printed in bold type to make the sentence 
grammatically correct? If the sentence is correct as it 
is mark (5) i.e. ‘No correction required’ as the answer 

 
11.  If Japanese markets needed a definition of the word 

jinx, then brokers’ efforts to convince investors to take 
a “one-way bet” on the prime minister’s political 
longevity, followed a few weeks later by a spectacle 
of connivance and a falsified document which could 
potentially finish him, is pretty good. 
(1) by a spectacle of connivance and a falsified 
document what could   
(2) by a spectacle of connivance and a falsified 
document were could 
(3) by a spectacle of connivance and a falsified 
document that could   
(4) by a spectacle of connivance and a falsified 
document when could 
(5) None of these. 

 
12.  Most tycoons have lost influence in Delhi, as 

politicians from Mr Modi down realise the toxicity of 
being seen to being in cahoots with “bollygarchs”. 
(1) toxicity of being seen to been in cahoots against 
(2) toxicity of being seen to being in cahoots around 
(3) toxicity of being seen to been in cahoots for 
(4) toxicity of being seen to be in cahoots with 
(5) None of these. 

 
13.  The taskforce is made up of administration officials, 

not independent experts but if it takes its job 
seriously, it should recommend privatising USPS and 
relaxing its monopoly power. 
(1) they should recommend privatising the USPS and 
relaxing its monopoly power 

(2) it should recommend privatising an USPS and 
relaxing its monopoly power 
(3) they should recommend privatising an USPS and 
relaxing its monopoly power 
(4) it should recommend privatising the USPS and 
relaxing its monopoly power 
(5) None of these. 

 
14.  Since shaking off communism in 1989 Poland has 

rivalled the bounciest Asian tigers in GDP growth and 
has become a vital NATO ally but it is also on the 
front line of what France’s president, Emmanuel 
Macron, calls a “European civil war” over the rule of 
law. 
(1) but it is also on the front line of that 
(2) but it is also on the front line of which 
(3) but it is also on the front line of hence 
(4) but it is also on the front line of therefore 
(5) None of these. 

 
15.  This undoubted and persistent connection with 

opposition, coupled with a surprising amount of 
loyalty from elsewhere in the party, makes the 
president pretty more unassailable. 
(1) from elsewhere in the party, makes the president 
pretty most unassailable  
(2) from elsewhere in the party, makes the president 
pretty much unassailable 
(3) from elsewhere in the party, makes the president 
pretty thing unassailable  
(4) from elsewhere in the party, makes the president 
pretty a lot unassailable 
(5) None of these. 

 
Directions (16-20) Find out the error, if any. If there is no 

error, the answer is (5), i.e. No error.(Ignore the errors 
of punctuation, if any. 

 
16.  The first week for ESPN+, a sports streaming service 

that Disney,(a)/owner of ESPN, launched in America 
on April 12th,(b)/had none of the razzmatazz 
associated with(c)/a firm known by blockbuster 
openings.(d)/No error(e)  
(1) a   (2) b 
(3) c   (4) d 
(5) e 

 
17.  In 1840, after a proposal by(a) / Rowland Hill, an 

inventor, Britain(b) / launched the Penny Post, the(c) / 
world’s first universal mail service.(d) / No error(e)  
(1) a   (2) b 
(3) c   (4) d 
(5) e 

 
18.  Any benefit that Deutsche brings to Germany(a) / 

should be weighed against the potential cost(b) / to 
the government of hosting a bare(c) / profitable bank 
that relies on wholesale funding.(d) / No error(e)  
(1) a   (2) b 
(3) c   (4) d 
(5) e 

 
19.  Just a few years ago Wuhan,(a) / a sprawling 

metropolis in the middle reaches(b) / of the Yangtze 
River, exemplifies(c) / China’s economic woes.(d) / 
No error(e)  
(1) a   (2) b 
(3) c   (4) d 
(5) e 

 
20.  Between April 13th and April 18th(a) / America’s 

biggest banks reported the(b) / strong set of first 
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quarter earnings,(c) / with a helping hand from the 
taxman.(d) / No error(e)  
(1) a   (2) b 
(3) c   (4) d 
(5) e 

 
Direction (21-30) In the following passage there are blanks 

each of which has been numbered. These numbers 
are printed below the passage and against each five 
words have been suggested, one of which fits the 
blanks appropriately. Find out the appropriate word in 
each case. 

 
 Industries have always played a fundamental role 

in (21) a progressive nation. They play a crucial role 
in the creation of jobs, building infrastructure, (22) of 
poverty, increasing exports of the country and, in the 
process, decreasing imports. The increased focus of 
industries on the development agenda is also helping 
the government to (23) its social agenda. 

 India has always been proud of being a democratic 
country. A combination of young and not-so-young 
entrepreneurs, who have infused billions of dollars of 
funds and global technology, has helped give millions 
of unutilized human resource employment, to build 
the India of today and for tomorrow. Let us accept 
that industrialization and manufacturing is here 
to (24) in India, and is a large (25) to the economy. 

 The year 2013 was reminiscent the era of 1990s 
when India faced its second economic crisis, but also 
saw the dawn of the liberalization of the economy. 
Opening up of foreign investment, liberalization in 
industrial policies to give impetus to growth, 
disinvestment of under-performing public sector 
companies, and similar policies were seen as an 
opportunity to give a much-needed (26) to the 
economy. The formula worked in favour of India and 
the country not only came back to its growth path but 
also became one of the most preferred (27) for 
foreign investors. Today, India needs strong global 
confidence in relation to its policies, commitments and 
government support. At one point, justice could even 
be denied, but justice delayed (28) the industry and 
the economy. The year ahead, 2014, is being seen as 
one of hope and (29). The industry is looking forward 
to a speedy disposal of proposals and clearances. 
Agenda that could lead to not just creation of strong 
infrastructure but also result in massive 
employment (30) leading towards eradication of 
poverty are being proposed. 

 
21.  Choose the correct option for (21) 

(1) Attaching     (2) deteriorating 
(3) segmenting  (4) Justifying     
(5) building 

 
22.  Choose the correct option for (22) 

(1) Alleviation        (2) adjustment  
(3) bifurcation  (4) publicizing        
(5) comfort 

 
23.  Choose the correct option for (23) 

(1) Negotiate         (2) spreading  
(3) targets  (4) achieve         
(5) produced 

 
24.  Choose the correct option for (24) 

(1) Anticipate    (2) stay   
(3) advancement   (4) leave   
(5) expects 

 
25.  Choose the correct option for (25) 

(1) Regulator         (2) sponsor   

(3) contributor   (4) mentor           
(5) writer 

 
26.  Choose the correct option for (26) 

(1) Loss       (2) attend      
(3) fright       (4) boost      
(5) vexation 

 
27.  Choose the correct option for (27) 

(1) Destinations    (2) designs   
(3) aim     (4) objects   
(5) fortune 

 
28.  Choose the correct option for (28) 

(1) Directs       (2) activates           
(3) revolutionizes  (4) Hones          
(5) paralyses 

 
29.  Choose the correct option for (29) 

(1) Mourning         (2) motivate  
(3) revival  (4) suppression        
(5) deviation 

 
30.  Choose the correct option for (30) 

(1) Struggle       (2) generation           
(3) replacement  (4) agenda       
(5) announced 

 
Direction (31-40) In a passage given below there are 10 
 blanks, each followed by a word given in bold. Even 
 blank has four alternative words given in options (1), 
 (2), (3) and (4). You have to choose which word will 
 best suit to the respective blank. Choose (5) as your 
 answer if the word given in the bold after the blank is 
 your answer i.e. "No change requires". 
 
 “Minorities have been made to live in fear by those 
 who believe in vote-bank politics,” Prime Minister 
 Narendra Modi told newly elected MPs of the National 
 Democratic Alliance (NDA), among whom members 
 belonging to his Bharatiya Janata Party (BJP) 
 command a clear majority in the 17th Lok Sabha. “We 
 have to end this (31) betrayal and take everyone 
 along.” 
 During the election campaign, however, on April 6, 
 Mr. Modi had said about Congress president Rahul 
 Gandhi contesting from Kerala’s Wayanad  
 (32) electorate: “The Congress dynast... selected a 
 seat where the majority is in minority.” He was 
 referring to the demographic projection of Hindus 
 constituting less than half the electorate in Wayanad. 
 Between the two statements lie clues about Mr. 
 Modi’s winning strategy. Winners in multiparty 
 contests in a ‘first past the post’ system often emerge 
 with a plurality of votes, leaving several minorities that 
 could add up to a majority on the opposing side. 
 Electoral strategies tend to focus on assembling a 
 plurality of voters on one’s side and preventing the 
 consolidation of opposing voters. Groups based on 
 static identities such as caste, gender and language 
 are individual components that are usually (33)amass 
 to form social coalitions, while class, a more porous 
 identity, has increasingly become an impossible 
 instrument of mobilisation. Fresh realignments of the 
 electorate are always possible until you define 
 majority and minority in terms of a static meta-identity 
 of religion, which (34) avert further negotiations. 
 The construction of that meta-identity and potentially 
 a permanent majority is the singular achievement of 
 Hindutva 2.0, Mr. Modi’s innovation to Hindu cultural 
 nationalism. The pre-eminence of religion as the 
 defining matrix to identify the minority and the majority 
 is illustrated in the statements above. In secular 
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 politics, religious minorities were treated as monoliths, 
 while Hindu identity was subordinate to its various 
 components that (35) were individually minorities. 
 Manmohan Singh, India’s first non-Hindu Prime 
 Minister, led a (36) affiliation of religious, caste, 
 linguistic and cultural minorities represented through 
 a multitude of parties, from 2004 to 2014. He 
 repeatedly (37) established that he had the 
 confidence of a majority of the members of the Lok 
 Sabha. But the (38) validity of his authority was 
 constantly questioned, notably by the Hindu 
 nationalists, in an attempt to harvest the notion, which 
 (39) apparently existed independently, of a minority-
 majority rule that harms national interest. The fact that 
 the other (40) prominent faces of that coalition were 
 Sonia Gandhi, a Christian, and Ahmad Patel, a 
 Muslim, fuelled this campaign. 
 
31.  (1) deception  (2) cost   
 (3) charge  (4) liability  
 (5) No change required 
 
32.  (1) city   (2) constituency  
 (3) district  (4) area  
 (5) No change required 
 
33.  (1) position  (2) attitude  
 (3) aggregated  (4) perspective  
 (5) No change required 
 
34.  (1) assemble  (2) arrange  
 (3) displaying  (4) precludes  
 (5) No change required 
 
35.   (1) may   (2) could 
 (3) is   (4) will  
 (5) No change required 
 
36.  (1) coalition  (2) drag  
 (3) pull out  (4) extract  
 (5) No change required 
 
37.  (1) relabeled   (2) demonstrated 
 (3) soundness  (4) accreted  
 (5) No change required 
 
38.  (1) energetic  (2) dynamic  
 (3) legitimacy  (4) practical  
 (5) No change required 
 
39.  (1) reapply  (2) medley   
 (3) restore  (4) probably  
 (5) No change required 
 
40.    (1) contribution  (2) deductions  
 (3) extraction  (4) payment  
 (5) No change required 
 
Direction (41-50) Read the passage carefully and answer the 
 following questions. 
 
 Terrorism, regional cooperation and the future of 
 Afghanistan were major themes at the Shanghai 
 Cooperation Organisation’s Heads of State summit in 
 Bishkek. The grouping, led by Russia and China, 
 which includes Afghanistan and the Central Asian 
 states of Uzbekistan, Kazakhstan, Tajikistan and 
 Kyrgyzstan, inducted India and Pakistan in 2017, 
 and has become an important forum for India’s 
 Eurasian neighbourhood. In a world riven by 
 geopolitical contestations, SCO membership 
 provides India a vital counter to some of the other 
 groupings it is a part of, balancing out its stated policy 

 of pursuing “multi-alignments”. It is a platform also for 
 alignments on issues such as energy security, 
 connectivity and trade. With India indicating that it 
 sees little use for SAARC, the SCO provides the only 
 multilateral platform for it to deal in close proximity 
 with Pakistan and Afghanistan. While the failure of 
 Prime Minister Narendra Modi and his Pakistani 
 counterpart Imran Khan to hold substantive talks at 
 the summit was marked, the occasion provided a 
 setting for them to exchange what India called the 
 “usual pleasantries” at the  least. Beyond the summit, 
 the two countries are committed to engaging at 
 several other levels, including the SCO Regional Anti-
 Terrorist Structure. Pakistan leads the effort to 
 coordinate between the SCO and the UN Office on 
 Drugs and Crime. In a paragraph on Afghanistan and 
 the SCO-Afghanistan contact group, the Bishkek 
 declaration stressed on an inclusive peace process 
 led by “Afghans themselves”. SCO countries 
 committed to strengthening economic cooperation 
 and supporting the World Trade Organisation 
 structure, while building more people-to-people ties, 
 tourism and cultural bonds within the grouping. 
 It is significant to see that where the group has failed 
 to find consensus, such as on India’s opposition to 
 China’s Belt and Road Initiative, the declaration has 
 mentioned only the other countries in a paragraph 
 praising the project. On the sidelines, Mr. Modi held 
 bilateral meetings with Chinese President Xi Jinping 
 and Russian President Vladimir Putin. This month, 
 Mr. Modi will meet U.S. President Donald Trump on 
 the sidelines of the G-20 summit in Osaka. While the 
 current India-U.S. trade impasse and plans for Indo-
 Pacific military cooperation will take centrestage 
 there, it is likely that the U.S.’s specific demands on 
 curbing defence deals with Russia, including on the 
 S-400 anti-missile system, and denying access to 
 Chinese telecom major Huawei for India’s 5G network 
 bids will also come up. India’s strategy of balancing 
 and straddling the competing interests of these 
 emerging blocs will be tested. But the SCO collective 
 and the bilateral meetings in Bishkek are an important 
 indicator early in the Modi government’s second 
 tenure of the foreign policy arc it is attempting. 
 
41.  Which of the following organisation does India see as 
 a Ray of Hope to deal with its neighboring countries? 
 (i) SAARC  (ii) SCO   
 (iii) Bishkek 
 (1) i and ii  (2) ii and iii 
 (3) i and iii  (4) i, ii and iii  
 (5) only ii 
 
42.  Which of the following best expresses the meaning of 
 the word inducted as used in the passage? 
 (1) Introduce  (2) install 
 (3) invest  (4) conscript  
 (5) turn away 
 
43.  In 2017 which of the following countries were given 
 the membership of SCO. 
 (1) Russia and China  
 (2) Afghanistan and Uzbekistan  
 (3) India and Pakistan  
 (4) Kazakhstan and Tajikistan  
 (5) None of these 
 
44.  Which of the following statements is not true 
 according to the passage? SCO members are aiming 
 at- 
 (1) developing tourism  
 (2) eliminating from the world 
 (3) strengthening cultural bonds  
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 (4) supporting WTO 
 (5) All of the above 
 
45.  Which of the following is most nearly the opposite in 
 meaning of the word “RIVEN” as used in the 
 passage? 
 (1) fray   (2) divided 
 (3) United  (4) Agree   
 (5) None of these 
 
46.  Which of the following is most nearly same in the 
 meaning of the word “IMPASSE” as used in the 
 passage? 
 (1) Breakthrough  (2) boon 
 (3) way   (4) standstill  
 (5) dilemma 
 
47.  Which of the following countries are/ is not a member 
 of SCO? 
 (i) The U.S. (ii) Russia (iii) Pakistan 
 (1) Only iii  (2) i and iii  
 (3) Only ii  (4) I and iii  
 (5) i, ii and iii 
 
48.  Choose the word which as same meaning as the 
 word “contestations”. 
 (1) agreement  (2) harmony  
 (3) peace  (4) quiet 
 (5) arguments 
 
49.  Choose the word which as opposite meaning as the 
 word “curbing”. 
 (1) constrain  (2) contain  
 (3) control  (4) hamper  
 (5) encourage 
 
50.  Choose the word which as opposite meaning as the 
 word “proximity”. 
 (1) distance  (2) hedge  
 (3) mount  (4) sprawl  
 (5) Hazy 

Quantitative Aptitude 

निरे्दश (51-55) निम्ननिखित जािकारी सावधािी से पढ़ें  और निम्ननिखित प्रश्नों का 

उत्तर द़ें। िीचे दी गई तानिका तीि अिग-अिग कों पनियनों और नदए गए 

वर्षों द्वारा उत्पानदत और बेचे जािे वािे दन पनिया वािि की सोंख्या 

नदिाती िै: 

  
 

51.  यनद वर्षष 2007 म़ें िीरन और िनोंडा द्वारा बेचे गए दन पनिया वािि की कुि 

सोंख्या 400 िै और 2008 म़ें िनोंडा द्वारा बेची गई दन पनिया वािि की 

सोंख्या 2007 म़ें उसी कों पिी द्वारा बेची गई दन पनिया वािि से 200 

अनधक िै तन िनोंडा द्वारा 2008 म़ें उत्पानदत दन पनिया वािि की सोंख्या 

ज्ञात करे? 

(1) 454   (2) 654 

(3) 855   (4) 543 

(5) 435 

 

52.  यनद 2009 म़ें िीरन द्वारा बेचे गए दन पनिया वािि की सोंख्या का 2010 म़ें 

िीरन द्वारा बेचे गए दन पनिया वािि की सोंख्या से अिुपात 8: 9 िै, तन 

2010 म़ें िीरन द्वारा बेचे गये दन पनिया वािि का अिुमानित प्रनतशत ज्ञात 

करे? 

(1) 21   (2) 12 

(3) 22   (4) 13 

(5) 23 

 

53.  यनद टी.वी.एस. िे 2007 म़ें दन पनिया वािि की ‘a’ सोंख्या और 2009 म़ें 

दन पनिया वािि की 'a + 200' सोंख्या बिाई और इि वर्षों म़ें टी.वी.एस. 

द्वारा बेचे जािे वािे दन पनिया वािि की कुि सोंख्या 630 िै, तन 2009 म़ें 

नकतिे दन पनिया वािि बेचे गए थे? 

(1) 444   (2) 434 

(3) 480   (4) 422 

(5) 343 

 

54.  िनोंडा िे 2010 म़ें 900 दन पनिया वािि का उत्पादि नकया और 2007 म़ें 

उसी कों पिी द्वारा बेचे जािे वािे दन पनिया वािि की सोंख्या 2010 म़ें 

कों पिी द्वारा बेची गई दन पनिया वािि की सोंख्या से 10% अनधक िै, तन 

2008 म़ें उसी कों पिी द्वारा उत्पानदत दन पनिया वािि की सोंख्या ज्ञात करे 

यनद िनोंडा द्वारा 2007 और 2008 म़ें बेचे गए दन पनिया वािि की सोंख्या 

9: 8 के अिुपात म़ें िै? 

(1) 543   (2) 432 

(3) 344   (4) 660 

(5) 324 

 

55.  यनद 2006, 2007 और 2008 म़ें िीरन द्वारा बेचे गए दन पनिया वािि की 

औसत सोंख्या 200 िै तन 2008 म़ें िीरन का उत्पादि 2009 म़ें िनोंडा के 

उत्पादि का नकतिा प्रनतशत िै? 

(1) 98%   (2) 80% 

(3) 56%   (4) 65% 

(5) 78% 

 

निरे्दश (56-60) निम्ननिखित प्रश्नों म़ें प्रश् नचह्न (?) के स्थाि पर क्या मूल्य िनिा 

चानिए? 

 

56.  420 का 36 % – 350 का 56 % = x – 112 - 552 

(1) 3092.2  (2) 2984.6 

(3) 4018.4  (4) 1987.8 

(5) इिमे से कनई ििी ों 

 

57.  180 का 17 2/3 + 480 का ¼ =? 

(1) 4200   (2) 2900 

(3) 4800   (4) 3300 

(5) इिमे से कनई ििी ों 

  

58.  {9801 ÷ √14641} × √ (42.25) = x ÷ 6 

(1) 1987   (2) 2456 

(3) 3159   (4) 2983 

(5) इिमे से कनई ििी ों 

  

59.  56 × 12 – 48 × 896 ÷ 112 =? 

(1) 426   (2) 288 

(3) 344   (4) 572 

(5) इिमे से कनई ििी ों 

  

60.  1 
5

3
 ÷ (3/11) × (x/11) = 2 2/3 × (7/5) × (6/7) 

(1) 4.8   (2) 6.2 

(3) 3.6   (4) 5.4 

(5) इिमे से कनई ििी ों 

 

61.  यनद नकसी वृत्त का के्षत्रफि a िै, पररनध b िै और व्यास c िै, तन a/bc का 

माि क्या िनगा? 

(1) 4  :  1   (2) 1  :  4 

(3) 1 :  2   (4) 2  :  1 

(5) इिमे से कनई ििी ों 

 

62.  {(341)98 + (211)59 – (45)100 + (105)35 – 164 + 259} के इकाई के 

स्थाि पर कौिसा अोंक िै? 

(1) 1   (2) 4 

(3) 5   (4) 7 

(5) इिमे से कनई ििी ों 

 

63.  एक व्यापारी 15% की छूट देता िै| एक ग्रािक नकसी वसु्त के निए 

255.00 रुपये का मूल्य अदा करता िै| वसु्त का सूची मूल्य नकतिा िनगा? 

(1) 366.50 रुपये  (2) 300.00 रुपये 

(3) 350.00 रुपये  (4) 431.25 रुपये 

(5) इिमे से कनई ििी ों 
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64.  दन छात्र एक परीक्षा म़ें उपखस्तथ हुए, उिम़ें से एक िे दुसरे से 19 अोंक 

अनधक प्राप्त नकये और उसके अोंक दनिनों के अोंकनों के यनग के 60% थे। 

दनिनों द्वारा प्राप्त नकये गये अोंक ज्ञात कीनजए। 

(1) 78 और 59  (2) 57 और 38 

(3) 45 और 26  (4) 99 और 80 

(5) इिमे से कनई ििी ों 

 

65.  एक टर ेि 90 नकमी/घोंटा की गनत से चिती िै एवों कुछ निनित दूरी कन 9 

घोंटनों म़ें तय करती िै| दुगुिी दूरी कन आधे समय म़ें तय करिे म़ें टर ेि कन 

िगिे वािा समय____ िै: 

(1) 90 नकमी/घोंटा  (2) 120 नकमी/घोंटा 

(3) 67 नकमी/घोंटा  (4) 380 नकमी/घोंटा 

(5) इिमे से कनई ििी ों 

 

निरे्दश (66-70)  निम्ननिखित शृ्ोंििा म़ें (?) के स्थाि पर क्या मूल्य िनिा चानिए? 

 

66.  106, 192, 364, 622,?   

(1) 782   (2) 966 

(3) 854   (4) 1280 

(5) इिमे से कनई ििी ों 

 

67.  105, 119, 125, 161,? 

(1) 346   (2) 297 

(3) 383   (4) 225 

(5) इिमे से कनई ििी ों 

 

68.  542, 249, 252, 640, 192, 141, ? 

(1) 287        (2) 289       

(3) 316       (4) 285     

(5) इिमे से कनई ििी ों 

 

69.  47, 51, 111, 349,? 

(1) 1421   (2) 783 

(3) 987   (4) 1843 

(5) इिमे से कनई ििी ों 

 

70.  120, 135, 157, 193, 250, ? 

(1) 485   (2) 335 

(3) 277   (4) 547 

(5) इिमे से कनई ििी ों 

 

निरे्दश (71-76) निम्ननिखित जािकारी कन सावधािीपूवषक पढ़ें  और नदए गए प्रश्नों का 

उत्तर द़ें- 

 

नसरु और क्लाकष नविे के दन स्थािनों से नवदेशनों म़ें यूजी स्नातक के निए  

कुछ सोंख्या म़ें छात्रनों िे आवेदि नकया। 

क्लाकष नविे म़ें कुि पुरुर्षनों का 75% और कुि मनििाओों का 25% िे 

आवेदि नकया, यि उस शिर के कुि छात्रनों का 55% िै, नजिकी कुि 

सोंख्या 550 िै| नसरु म़ें पुरुर्षनों की कुि सोंख्या  क्लाकष नविे म़ें पुरुर्षनों की 

तुििा म़ें दनगुिा िै। यूजी स्नातक के निए आवेदि की गई मनििाओों की 

सोंख्या 100 िै। 

नसरु के कुि छात्रनों  म़ें 3/5 पुरुर्ष िैं नजिम़ें से आधे छात्रनों िे नवदेश म़ें यूजी 

स्नातक के निए आवेदि नकया िै। कुि पुरुर्षनों म़ें से आधे और कुि 

मनििाओों म़ें से आधे िे यूजी स्नातक के निए आवेदि नकया| 

 

71.  नसरू से नवदेश म़ें यूजी स्नातक के निए आवेदि ििी ों करिे वािी मनििा 

छात्राओों की सोंख्या क्लाकष नविे से नवदेश म़ें यूजी स्नातक के निए आवेदि 

करिे वािे पुरुर्षनों की सोंख्या का नकतिा प्रनतशत िै? 

(1) 72.5%   (2) 88.89% 

(3) 66.67%  (4) 54.67% 

(5) 68.54% 

 

72. क्लाकष नविे म़ें आवेदि ििी ों करिे वािी मनििा छात्राओों की सोंख्या और 

नसरू म़ें आवेदि करिे वािे पुरुर्ष छात्रनों की सोंख्या के बीच अिुपात क्या 

िै? 

(1) 2:3   (2) 4:5 

(3) 1:2   (4) 3:1 

(5) इिमे से कनई ििी ों 

 

73.  क्लाकष नविे और नसरू म़ें छात्रनों की सोंख्या के बीच क्या अोंतर िै? 

(1) 1200   (2) 800 

(3) 60   (4) 1000 

(5) 500 

 

74.  क्लाकष नविे म़ें पुरुर्षनों की सोंख्या नसरु म़ें मनििाओों की सोंख्या से नकतिा 

प्रनतशत कम िै? 

(1) 20%   (2) 24% 

(3) 30%   (4) 36% 

(5) 25% 

 

75.  दनिनों स्थािनों म़ें यूजी स्नातक के निए आवेदि ि नकए गए छात्रनों की कुि 

सोंख्या ज्ञात करे? 

(1) 1200   (2) 1250 

(3) 1450   (4) 1050 

(5) 950 

 

76.  एक साथ दनिनों जगिनों के निए आवेदि ििी ों करिे वािे कुि पुरुर्षनों के 

बीच और दनिनों जगिनों के निए आवेदि करिे वािी मनििा छात्राओों का 

अिुपात क्या िै? 

(1) 3:2   (2) 1:3 

(3) 2:5   (4) 1:4 

(5) इिमे से कनई ििी ों 

 

77.  A और B अकेिे क्रमशः  X और (x + 10) नदिनों म़ें एक काम ित्म कर 

सकते िैं| और वे एक साथ काम करके 9 (3/8) नदिनों म़ें काम ित्म कर 

सकते िैं। नफर A और B के दक्षता अिुपात कन ज्ञात करे? 

(1) 2:7   (2) 5:3 

(3) 2:3   (4) 1:3 

(5) 4:5 

 

78.  एक व्यखि िे 20,000 रुपयनों म़ें सोंतरे की 50 पेनटयााँ िरीदी| उसिे 10 

पेनटयााँ िन दी| उसे कुि िागत का 25% िाभ अनजषत करिे के निए बची 

हुई प्रते्यक पेटी कन नकतिे रुपयनों म़ें बेचिा िनगा? 

(1) 650 रुपये  (2) 625 रुपये 

(3) 600 रुपये  (4) 575 रुपये 

(5) इिमे से कनई ििी ों 

 

79.  कन्ना और कृष्णा क्रमशः  18000 रुपये और 24000 रुपये की पूोंजी के 

साथ कारनबार शुरू करते िैं। कुछ मिीिनों के बाद कृष्णा िे व्यवसाय 

छनड़ नदया और कुि िाभ का एक चौथाई (1/4) निस्सा प्राप्त नकया, तन 

कन्ना अकेिे नकतिे मिीिे कारनबार चिाते िै?  

(1) 5 मिीिे  (2) 3 मिीिे 

(3)  9 मिीिे  (4) 4 मिीिे 

(5) 6 मिीिे 

 

80.  A अकेिे 24 नदिनों म़ें काम का एक भाग कर सकते िैं। अकेिे B 36 

नदिनों म़ें समाि काम कर सकते िैं। वे 8 नदिनों म़ें C की मदद से काम 

ित्म करते िैं। A और B िे साथ म़ें काम करिा शुरू कर नदया, 3 नदि 

बाद C शानमि िन गया और B काम पूरा िनिे से 3 नदि पििे छनड़ नदया। 

पूरे काम कन ित्म करिे के निए नदिनों की सोंख्या ज्ञात करे? 

(1) 12 नदि   (2) 15 नदि 

(3) 20 नदि   (4) 24 नदि 

(5) इिमे से कनई ििी ों 

 

निरे्दश (81-85) निम्ननिखित ग्राफ का ध्यािपूवषक अध्ययि कऱें  और नदए गए प्रश्नों 

का उत्तर द़ें- 

 

बार चाटष दन अिग-अिग वर्षों म़ें पाोंच अिग-अिग राष्ट्र ीय उद्यािनों म़ें 

बाघनों की सोंख्या नदिाता िै 
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81.  वर्षष 1998 म़ें बाघनों की कुि सोंख्या और वर्षष 2018 म़ें बाघनों की कुि सोंख्या 

के बीच क्या अोंतर िै? 

(1) 48   (2) 72 

(3) 36   (4) 54 

(5) 51 

 

82.  यनद राष्ट्र ीय पाकष  D म़ें 2017 म़ें बाघनों की कुि सोंख्या उसी पाकष  म़ें 2018 

म़ें बाघनों की सोंख्या से 25% अनधक िै, तन राष्ट्र ीय उद्याि D म़ें वर्षष 2017 म़ें 

बाघनों की सोंख्या ज्ञात कऱें  । 

(1) 120   (2) 105 

(3) 150   (4) 135 

(5) 145 

 

83.  दनिनों वर्षों म़ें राष्ट्र ीय उद्यािनों A, C और D म़ें बाघनों की कुि सोंख्या और 

राष्ट्र ीय उद्याि B, C और D म़ें बाघनों की कुि सोंख्या के बीच अिुपात क्या 

िै? 

(1) 399:308  (2) 402:459 

(3) 325:421  (4) 461:457 

(5) इिमे से कनई ििी ों 

 

84.  वर्षष 2018 म़ें A, B और C म़ें बाघनों की कुि सोंख्या वर्षष 1 99 8 म़ें D और 

E म़ें बाघनों की कुि सोंख्या का िगभग नकतिा प्रनतशत िै? 

(1) 80%   (2) 95% 

(3) 64%   (4) 72% 

(5) 90% 

 

85.  दनिनों वर्षों के निए A और B म़ें बाघनों की सोंख्या, दनिनों वर्षों के निए C और 

D म़ें बाघनों की सोंख्या का नकतिा प्रनतशत िै? 

(1) 72.54%  (2) 89.67% 

(3) 42.87%  (4) 96.56% 

(5) इिमे से कनई ििी ों 

 

निरे्दश (86-90) निम्ननिखित प्रश्नों का उत्तर देिे के निए निम्ननिखित डेटा का 

 ध्यािपूवषक अध्ययि कऱें : 

 

 जॉि िे 10: 9: 6 के अिुपात म़ें तीि प्रकार की नमठाई िड्डू, जामुि और 

 बदुशा कन िरीदा। 360 रुपये प्रनत नकिन की दर से बदुशा की िागत 

 8640 रुपये िनता िै। 10% की छूट पर बदुशा कन बेचकर उसिे 25% 

 का िाभ अनजषत नकया। जमुि कन (नजसे 600 रुपये प्रनत नकिन के रूप म़ें 

 नचनह्नत नकया गया था) 20% छूट पर बेचकर बदुशा की तुििा म़ें प्रनत 

 नकिन 15 रुपये कम िाभ कमाया। जॉि िे इि नमठाइयनों कन िरीदिे पर 

 कुि 47220 रुपये िचष नकए, जबनक उसिे सभी िरीदी गई नमठाई कन 

 बेचिे पर 7460 रुपये का कुि िाभ अनजषत नकया। िड्डू प्रनत नकिन 

 िागत मूल्य से 40% अनधक नचनह्नत नकया गया था। 

 

86.  यनद जॉि बदुशा पर 10% अनतररि छूट देता िै, तन उसका िाभ% या 

 िानि% नकतिा िै? 

 (1) 18%   (2) 20% 

 (3) 24%   (4) 12.5%  

 (5) 15% 

 

87.  जॉि द्वारा िरीदी गई नमठाई की कुि मात्रा ज्ञात कऱें? 

 (1) 300 Kg  (2) 100 Kg  

 (3) 400 Kg  (4) 200 Kg  

 (5) 900 Kg 

 

88.  यनद नकसी कारण से 6 नकिन जामुि बबाषद िन गया था। तन दी गई खस्थनत 

 के अिुसार शेर्ष जामुि कन बेचकर िाभ प्रनतशत या िानि प्रनतशत 

 निकाि़ें। 

 (1) 2.12%   (2) 1.23%  

 (3) 3.11%   (4) 6.56%  

 (5) 8.11% 

 

89.  बदुशा के प्रनत नकिन िागत मूल्य, बदुशा के प्रनत नकिन नचनह्नत मूल्य से 

 नकतिा प्रनतशत कम था? 

 (1) 30%   (2) 40%  

 (3) 10%   (4) 28%  

 (5) 60% 

 

90.  जामुि के नचनह्नत मूल्य से सभी नमठाइयनों के िाभ के यनग (प्रनत नकिन) का 

 अिुपात क्या िै? 

 (1) 60: 23   (2) 62:19 

 (3) 63:44   (4) 63:31  

 (5) 59:33 

 

91.  एक बेईमाि नवके्रता जब डीिर से वसु्त िरीदता िै तन वि इोंनगत वजि से 

 20% अनधक िेता िै। वि क्रय मूल्य पर अपिे ग्रािक कन इोंनगत वजि से 

 20% कम देता िै, तन नवके्रता का िाभ प्रनतशत निकाि़ें? 

 (1) 49.92%  (2) 23.96%  

 (3) 54.91%  (4) 12.95%  

 (5) 71.93% 

 

92.  एक बतषि म़ें 60 िीटर दूध िै। बतषि से 6 िीटर दूध निकािा जाता िै और 

 उसी मात्रा म़ें पािी से बदि नदया जाता िै। नफर नमश्ण से 6 िीटर 

 निकािा जाता िैं, और नफर बतषि कन उसी मात्रा म़ें पािी से भर नदया 

 जाता िै। बतषि म़ें बचे हुए दूध की मात्रा से बतषि म़ें शुरू म़ें दूध की मात्रा 

 का अिुपात ज्ञात कऱें। 

 (1) 21:100  (2) 31:100  

 (3) 87:100  (4) 81:100  

 (5) 27:100 

 

93.  एक आयताकार बगीचे के नकिारे पर 3 मीटर की समाि चौड़ाई का मागष 

 बिाया जाता िै। यनद आयताकार बगीचे का के्षत्रफि 640 वगष मीटर िै 

 और मागष सनित बगीचे का के्षत्रफि 916 वगष मीटर िै, तन बगीचे की 

 पररनध निकाि़ें। 

 (1) 30 मीटर  (2) 50 मीटर  

 (3) 20 मीटर  (4) 60 मीटर  

 (5) 80 मीटर 

 

94.  A, B और C टैंक म़ें िगाए गए तीि छनटे पोंप िैं। D टैंक म़ें िगाया गया 

 एक बड़ा पोंप िै। पोंप B, A से 25% अनधक क्षमता वािा िै। पोंप C, B से 

 20% अनधक क्षमता वािा िै। पोंप D, C से 4/3 क्षमता वािा िै। सभी पोंप 

 टैंक कन भरिे के निए उपयनग नकए जाते िैं। टैंक कन भरिे के निए पोंप B 

 और D द्वारा निए गए समय से टैंक कन भरिे के निए पोंप A और B द्वारा 

 निए गए समय का अिुपात क्या िै? 

 (1) 17:8   (2) 15:5  

 (3) 12:8   (4) 13:9  

 (5) 32:9 

 

95.  एक दुकािदार आमतौर पर प्रनत बैग 1500 रुपये बेचता िै। एक बार 

 ग्रािक कन बैग बेचते समय उसिे 10% और 20% की िगातार दन छूट 

 दी। िेनकि उसिे ग्रािक से शुद्ध नवक्रय मूल्य पर अनतररि 5% शुल्क 

 निया। िया नवक्रय मूल्य, मूि नवक्रय मूल्य से नकतिा प्रनतशत कम िै? 

 (1) 24.4%   (2) 23.8%  

 (3) 65.5%   (4) 21.3%  

 (5) 31.3% 

 

96.  450.64 + 1288.52 + 638.12 – 352.28 = (?)2 

 (1) 40   (2) 45  

 (3) √45   (4) 25  

 (5) 35 

 

97.  1
2

7
  + 9 

6

35
   – 8 

3

7
  = (?) 

 (1) 1
3

7
     (2) 1 

2

24
    

 (3) 2 
5

7
     (4) 1 

2

7
    

 (5) 2 
1

35
   

 

98.  7890.6+46550.54+452.54+885.46=?+5779.14 

 (1) 5000   (2) 55000  

 (3) 50000   (4) 57500 

 (5) 45700 

 

99.  (√648 ÷ 32) × (√225 ÷ 45) = ? ÷ 48 

 (1) 3   (2) 9  

 (3) 12   (4) 18 

 (5) 16 

 

100.  90% का 320 + 58% का 4200 = ?% का 7200 

 (1) 227/6   (2) 224/6  

 (3) 223/6   (4) 221/6  

 (5) 241/6 
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Reasoning Aptitude 

निरे्दश (101) िीचे नदए गए प्रते्यक प्रश् म़ें दन कथि I और II िैं। आपकन यि तय 

करिा िनगा नक कथि म़ें नदए गए डेटा प्रश् का उत्तर देिे के निए पयाषप्त 

िैं या ििी ों। प्रश् और दनिनों कथि पढ़ें  और उत्तर द़ें। 

 

101.  यनद "English Novel is good" कन "nm bt ch gl" के रूप म़ें कननडत 

नकया गया िै, "good Novel get Prize कन "ms sr bt gl" के रूप म़ें 

कननडत नकया गया िै, "Prize is Precious" कन "sr qm nm" के रूप म़ें 

कननडत नकया गया िै, तन दी गई कननडोंग भार्षा म़ें "English" के निए क्या 

कनड िनगा ? 

(1) gl   (2) ch 

(3) nm   (4) bt 

(5) या तन 1 या 2 

 

निरे्दश (102-106) निम्ननिखित जािकारी सावधािी से पढ़ें  और िीचे नदए गए सवािनों 

का जवाब द़ें- 

 

आठ व्यखि A, B, C, D, E, F, G और H एक वृत्ताकार मेज  म़ें बैठे िैं 

और उिम़ें से कुछ टेबि के अोंदर का सामिा कर रिे िैं जबनक उिम़ें से 

कुछ टेबि के क़ें द्र के नवपरीत का सामिा कर रि़ें  िैं। वे सभी एक िी 

क्रम म़ें िनिे के निए आवश्यक ििी ों िैं। एक िी नदशा का सामिा करिे 

वािे दन से अनधक व्यखि एक साथ ििी ों बैठते िैं। 

B, G के बाईों ओर दूसरा बैठता िै और मेज के क़ें द्र के नवपरीत का 

सामिा करता  िै| D, E के दाईों ओर दूसरे स्थाि पर बैठता िै, जन H का 

तत्काि पड़नसी िै| D, G के समाि नदशा का सामिा करता िै (यनद D 

मेज  के क़ें द्र का सामिा करता िै, तन G भी मेज  के क़ें द्र का सामिा 

करता िै और इसके नवपरीत)। A, B का तत्काि पड़नसी ििी ों िै और H 

के समाि नदशा का सामिा करता िै। चार से अनधक व्यखियनों का मुि 

मेज  के क़ें द्र के बािर ििी ों िै। D के तत्काि पड़ननसयनों कन एक दूसरे के 

नवपरीत नदशाओों का सामिा करिा पड़ता िै (यनद D के एक पड़नसी का 

मुि मेज  के क़ें द्र  की और िै, तन दूसरा एक मेज  के क़ें द्र के नवपरीत 

िनगा, [और इसके नवपरीत])। B और H के बीच दन िनग बैठे िैं, जन G  के 

तत्काि पड़नसी ििी ों िैं| E, C के समाि नदशा का सामिा करता िैं, जन D 

के तत्काि पड़नसी ििी ों िैं। 

 

102.  निम्ननिखित म़ें से कौि सा G के बाईों ओर तीसरा बैठता िै? 

(1) H   (2) E 

(3) C   (4) F 

(5) D 

 

103.  टेबि के क़ें द्र का सामिा करिे वािे नकतिे िनग िैं? 

(1) तीि   (2) पाोंच 

(3) चार   (4) छि 

(5) निधाषररत ििी ों नकया जा सकता िै 

 

104.  निम्ननिखित म़ें से कौि से कथि सत्य िैं? 

(1) केवि एक व्यखि F और A के बीच बैठता िै 

(2) E और B एक िी नदशा का सामिा कर रिे िैं 

(3) H, G के नवपरीत बैठता िै 

(4) C, A के बाईों ओर दूसरा बैठता िै 

(5) H, D के तत्काि बाईों ओर बैठता िै 

 

105.  निम्ननिखित पाोंच म़ें से चार एक निनित तरीके से समाि िैं और इसनिए 

एक समूि बिाते िैं। इिम़ें से कौि सा उस समूि से सोंबोंनधत ििी ों िै? 

(1) H   (2) D 

(3) C   (4) G 

(5) F 

 

106. यनद एक निनित तरीके से E सोंबोंनधत िै D से और F सोंबोंनधत िै C से। 

नफर H निम्ननिखित म़ें से नकससे सोंबोंनधत िै? 

(1) E   (2) A 

(3) B   (4) C 

(5) E 

 

निरे्दश (107-111) निम्ननिखित जािकारी सावधािीपूवषक पढ़ें  और िीचे नदए गए 

सवािनों का जवाब द़ें- 

 

आठ व्यखियनों-D, T, M, L, S, V, X और J एक इमारत के आठ अिग-

अिग मोंनजि  पर रि रिे िैं, इमारत  का सबसे िीचे मोंनजि  कन एक 

नगिा जाता िै, और ऊपर की मोंनजि की सोंख्या दन और सबसे ऊपर  

मोंनजि कन सोंख्या आठ नगिा जाता िै। वे सभी अिग-अिग फिनों जैसे 

अोंगूर, अमरूद, िारोंगी, आम, केिे, ऐप्पि, पपीता और चेरी पसोंद करते 

िै , िेनकि एक िी क्रम म़ें आवश्यक ििी ों िैं। 

अोंगूर पसोंद करिे वािे व्यखि और T के बीच केवि एक व्यखि रिता िै, 

जन एक  सम क्रमाोंक मोंनजि म़ें से नकसी एक पर रिता िै। अोंगूर पसोंद 

करिे वािा व्यखि शीर्षषतम मोंनजि म़ें ििी ों रिता िै। S और अोंगूर पसोंद 

करिे वािे के बीच  दन से अनधक िनग रि रिे िैं। S और J के बीच दन 

िनग रि रिे िैं, जन ऐप्पि पसोंद करता िै । पपीता पसोंद करिे वािे 

व्यखि से ऊपर रििे वािे  व्यखियनों की सोंख्या M के िीचे रििे वािे 

व्यखियनों की सोंख्या के समाि िैं। L और जन पपीता पसोंद करते िैं के 

बीच केवि दन िनग रि रिे िैं। जन पपीता पसोंद करता िै वि L के ऊपर 

की मोंनजिनों म़ें से एक म़ें रिता िै। चेरी कन पसोंद करिे वािा व्यखि X के 

तुरोंत िीचे रिता िै । T चेरी पसोंद ििी ों करता िै। केवि एक व्यखि D 

और जन केिा पसोंद करता िै के बीच रिता िै। V िारोंगी  पसोंद करिे 

वािे व्यखि के ठीक िीचे रिता िै। D कन अमरूद पसोंद ििी ों िै। T चौथी 

मोंनजि पर ििी ों रिता िै। जन ऐप्पि पसोंद करता िै वि सम क्रमाोंनकत 

मोंनजि पर ििी ों रिता िै। 

 

107.  निम्ननिखित फिनों म़ें से X कौि सा फि पसोंद करता िै? 

(1) आम   (2) अोंगूर 

(3) केिे   (4) अमरूद 

(5) पपीता 

 

108.  चेरी पसोंद करिे वािे व्यखि और J के बीच नकतिे िनग रि रिे िैं? 

(1) एक   (2) दन 

(3) तीि   (4) कनई ििी ों 

(5) तीि से अनधक 

 

109.  निम्ननिखित पाोंच म़ें से चार एक निनित तरीके से समाि िैं और इसनिए 

एक समूि बिाते िैं। निम्ननिखित म़ें से कौि सा उस समूि से सोंबोंनधत ििी ों 

िै? 

(1) वि जन X के तुरोंत िीचे रिता िै (2) L 

(3) वि जन िारोंगी पसोंद करता िै (4) वि जन आम कन पसोंद करता िै 

(5) T 

 

110.  यनद 'S' और 'D' उिके मोंनजि का आदाि-प्रदाि कर रिे िैं, तन D और 

जन अोंगूर पसोंद करते िैं के बीच नकतिे िनग रि रिे िैं? 

(1) दन   (2) तीि 

(3) एक   (4) चार 

(5) कनई ििी ों 

 

111.  एक निनित तरीके से यनद V ऐप्पि से सोंबोंनधत िै और L चेरी से सोंबोंनधत 

िै। नफर, S निम्ननिखित म़ें नकससे सोंबोंनधत िै? 

(1) अमरूद  (2) पपीता 

(3) िारोंगी   (4) अोंगूर 

(5) आम 

 

निरे्दश (112-116) निम्ननिखित जािकारी का ध्यािपूवषक अध्ययि कऱें  और िीचे 

नदए गए सवािनों का जवाब द़ें- 

 

नबोंदु A नबोंदु H के पनिम म़ें 4 मीटर पर िै। नबोंदु H नबोंदु S के  9 मीटर 

दनक्षण म़ें िै। नबोंदु S नबोंदु R के उत्तर म़ें 10 मीटर म़ें िै। नबोंदु R नबोंदु M के 

पनिम म़ें 6 मीटर म़ें िै। नबोंदु M नबोंदु N के उत्तर म़ें 14 मीटर म़ें िै, और 

नबोंदु N नबोंदु T के दनक्षण म़ें 7 मीटर पर  िै। नबोंदु B नबोंदु A के नबलु्कि 

दनक्षण म़ें और नबोंदु N के नबलु्कि पनिम म़ें िै. 

 

112.  S और N के बीच िगभग सबसे छनटी दूरी क्या िै? 

(1) 14 मीटर  (2) 36 मीटर 

(3) 25 मीटर  (4) 15 मीटर 

(5) 35 मीटर 

 

113.  नबोंदु M के सोंबोंध म़ें नबोंदु B नकस नदशा म़ें िै? 

(1) उत्तर   (2) इिम़ें से कनई ििी ों 

(3) उत्तर पूवष  (4) दनक्षण-पूवष 

(5) उत्तर पनिम 

 

114.  यनद नबोंदु Q नबोंदु B के पूवष म़ें 4 मीटर पर िै, तन निम्न म़ें से कौि सी नबोंदु 

सीधे रेिा म़ें िैं? 

(1) A, B, Q  (2) H, R, Q 

(3) S, Q, N  (4) M, Q, N 

(5) इिम़ें से कनई ििी ों 
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115.  "PLEASURE" शब्द म़ें अक्षरनों के नकतिे जनडे़ िैं नजिम़ें शब्द के बीच 

वणषमािा शृ्ोंििा (आगे और नपछडे़ दनिनों) म़ें उिके बीच उतिे िीअक्षर 

िैं? 

(1) कनई ििी ों  (2) 2 

(3) 3   (4) 4 

(5) 1 

 

116.  यनद सोंख्या "824362715975546" म़ें सभी नवर्षम अोंक एक से कम िन 

जाते िैं और सभी सम अोंकनों कन भी एक से बढाया जाता िै, तन शृ्ोंििा कन 

बाएों  से दाएों  घटते क्रम म़ें व्यवखस्थत करिे की व्यवस्था की जाती िै, तन 

निम्न म़ें से कौि सा अोंक शृ्ोंििा के नबलु्कि बीच म़ें आिे वािे अोंक के 

बाईों ओर तीसरा िै? 

(1) 5   (2) 6 

(3) 4   (4) 7 

(5) इिम़ें से कनई ििी ों 

 

निरे्दश (117-121) दी गई जािकारी का ध्यािपूवषक अध्ययि कऱें  और िीचे नदए गए 

प्रश् का उत्तर द़ें- 

 

एक निनित सोंख्या  के िनग उत्तर की ओर मुि नकए पोंखि म़ें बैठे िै। तीि 

व्यखि A और C के बीच बैठे िैं| पाोंच व्यखि F और A के बीच बैठे िैं। 

चार व्यखि G और B के बीच बैठे िैं।B, C का तत्काि पड़नसी िै। G, A 

के दाईों ओर बैठता िै| H, Aका तत्काि पड़नसी ििी ों िै।E, H के दाईों ओर 

पाोंचव़ें स्थाि पर बैठता िै|D, F और G के नबलु्कि बीच म़ें बैठता िै। कम 

से कम एक और दन से अनधक व्यखि G के दाईों ओर ििी ों बैठता िै। 

पोंखि म़ें बैठे व्यखि की सोंख्या एक नवर्षम सोंख्या ििी ों िै। पाोंच से अनधक 

िनग A के दाईों ओर ििी ों बैठते िैं| F और G के बीच बैठे व्यखि की 

सोंख्या F और H के बीच बैठे  व्यखि की सोंख्या से एक अनधक िै. 

 

117.  यनद X, A और D के बीच सटीक रूप से बैठता िै, तन X के सोंबोंध म़ें F की 

खस्थनत क्या िै? 

(1) बाईों ओर दूसरा  (2) बाईों ओर तीसरा 

(3) दाईों ओर चौथा  (4) दाईों ओर पाोंचवाों 

(5) इिम़ें से कनई ििी ों 

  

118.  E के दाईों ओर तीसरे स्थाि पर कौि बैठा िै? 

(1) उिम़ें से कनई भी E के दाईों ओर तीसरे स्थाि पर ििी ों िै  

(2) C   (3) B   

(4) D   (5) A 

 

119.   पोंखि म़ें कुि नकतिे िनग बैठे िैं? 

(1) 16   (2) 20 

(3) 18   (4) 22 

(5) इिम़ें से कनई ििी ों 

 

120.  उस व्यखि के दाईों ओर कौि बैठता िै जन C से चार स्थाि दूर िै? 

(1) F   (2) G 

(3) D   (4) B 

(5) या तन (1) या (2) 

 

121.  निम्ननिखित म़ें से कौि पोंखि के अोंनतम छनर पर बैठता िै? 

(1) B   (2) H 

(3) D   (4) A 

(5) उिम़ें से कनई भी पोंखि के चरम छनर पर ििी ों बैठता िै. 

 

निरे्दश (122-124) दी गई जािकारी का ध्यािपूवषक अध्ययि कऱें  और निम्ननिखित 

प्रश्नों का उत्तर द़ें- 

निम्ननिखित म़ें से प्रते्यक प्रश् म़ें कुछ कथिनों के बाद तीि निष्कर्षष I, II और 

III नदए जाते िैं। आपकन नदए गए कथिनों कन सत्य माििा िै, भिे िी वे 

आम तौर पर ज्ञात तथ्नों से नभन्न िनों। निष्कर्षष पढ़ें  और नफर तय कऱें  नक 

नदए गए निष्कर्षों म़ें से कौि से निष्कर्षष तकष सोंगत रूप से नदए गए कथिनों 

का पािि करते िैं. 

 

122.  कथि: कुछ बृिस्पनत मोंगि िै, कनई मोंगि सूयष ििी ों िै 

सभी सूयष चोंद्रमा िै,  सभी चोंद्रमा पृथ्वी िै 

निष्कर्ष: I. सभी मोंगि का पृथ्वी िनिा एक सोंभाविा िै 

II. कुछ बृिस्पनत चोंद्रमा ििी ों िै 

III. सभी पृथ्वी का चोंद्रमा िनिा एक सोंभाविा िै 

(1) केवि I का पािि करता िै  

(2) केवि I और III का पािि करता िै 

(3) केवि I और II का पािि करता िै  

(4) सभी I, II और III का पािि करता िै 

(5) केवि II का पािि करता िै 

  

123.  कथि: सभी Biscuit Good day िै, कुछ Good day Sunfeast िै, 

कनई Munch  Good day ििी ों  िै, सभी Munch  Marie gold िै 

निष्कर्ष: I. सभी Munch का Biscuit िनिा एक सोंभाविा िै 

II. कुछ Marie gold Goodday ििी ों िै 

III. कनई Biscuit Marie gold ििी ों िै 

(1) केवि II का पािि करता िै 

(2) सभी I, II और III का पािि करता िै 

(3) दनिनों II और III पािि करता िै  

(4) कनई पािि ििी ों करता िै 

(5) केवि I का पािि करता िै 

 

124.  कथि: कुछ विव्य धारणाएों  िैं, कनई धारणा सच ििी ों िै 

सब झठूा सच िै,  कनई झठूा शब्द ििी ों िै 

निष्कर्ष: I. कनई शब्द विव्य ििी ों िै 

II. कनई झठूा विव्य ििी ों िै 

III. सभी सच का शब्द िनिा एक सोंभाविा िै 

(1) केवि I का पािि करता िै  

(2) दनिनों I और III पािि करता िै 

(3) कनई पािि ििी ों करता िै  

(4) सभी I, II और III का पािि करता िै 

(5) केवि II का पािि करता िै 

 

निरे्दश (125-126) निम्ननिखित जािकारी का ध्यािपूवषक अध्ययि कऱें  और िीचे 

नदए गए सवािनों का जवाब द़ें- 

125.  नदए गए अनभव्यखि कन इस तरि से पूरा करिे के क्रम म़ें निम्न म़ें से कौि 

से प्रतीकनों कन ररि स्थाि म़ें क्रमशः  (बाएों  से दाएों  से उसी क्रम म़ें) रिा 

जािा चानिए जन अनभव्यखि E < M के साथ-साथ N ≥ T निनित रूप से 

सत्य बिाता िै? 

E _ T _ D _ M _ N 

(1) =, =, ≤, ≥  (2) >, ≥, =, ≤ 

(3) >, <, =, ≤  (4) <, =, =, ≤ 

(5) >, =, ≤, > 

 

126.  निम्ननिखित अनभव्यखि कन इस तरि से पूरा करिे के निए क्रमशः  िािी 

ररि स्थाि (बाएों  से दाएों  से उसी क्रम म़ें) म़ें रिा जािा चानिए नजससे 

अनभव्यखि A < O निनित रूप से गित िन? 

___≤___>___=___≥_____ 

(1) O,  E, F, A, W (2) W, A, F, O, E 

(3) A, O, F, W, E (4) E, A, F, W,O 

(5) A, E, F, W, O 

 

निरे्दश (127-131) निम्ननिखित जािकारी ध्यािपूवषक पढ़ें  और िीचे नदए गए सवािनों 

का जवाब द़ें- 

आठ व्यखि A, B, C, D, E, F, G और H समाि वर्षष के माचष, जूि, नसतोंबर 

और नदसोंबर के नवनभन्न मिीिनों के 12 और 21 दन अिग-अिग तारीि म़ें 

पैदा हुए िैं। वे नवनभन्न भारतीय शिर से सम्बोंनधत िैं, अथाषत् बैंगिनर, 

चेन्नई, कनचीि, नदल्ली, िैदराबाद, मुोंबई, पटिा और पुणे िेनकि उसी क्रम 

म़ें आवश्यक ििी ों िै B और मुोंबई से सोंबोंनधत व्यखि  के बीच केवि दन 

िनग पैदा हुए िैं। H पटिा से सोंबोंनधत व्यखि के तुरोंत बाद पैदा हुआ, जन 

उसी मिीिे पैदा ििी ों हुआ जन मुोंबई से सोंबोंनधत िै। A और  जन िैदराबाद 

से सोंबोंनधत िै, के बीच केवि एक व्यखि पैदा हुआ । जन कननचि से 

सोंबोंनधत िै वि उस मिीिे म़ें से एक म़ें पैदा हुआ था नजसम़ें 31 नदि िैं। E 

और चेन्नई से सोंबोंनधत व्यखि के बीच पैदा हुए व्यखियनों की सोंख्या C और 

पुणे से सोंबोंनधत व्यखि के बीच पैदा हुए व्यखियनों की सोंख्या के समाि िै। 

G और कनचीि सोंबोंनधत व्यखि के बीच दन व्यखि पैदा िनते िैं , जन G के 

बाद पैदा हुआ था। जन पटिा से सोंबोंनधत िै, वि सम क्रमाोंक तारीि म़ें 

पैदा ििी ों िनता िै। H, B से पििे पैदा ििी ों हुआ िै| पुणे से  सम्बोंनधत 

व्यखि के जन्म के बाद पैदा हुए व्यखि की सोंख्या F से पििे पैदा हुए 

व्यखियनों की सोंख्या के समाि िैं, जन उस मिीिे म़ें पैदा हुए नजसम़ें 30 

नदि िनते िैं। B उस मिीिे म़ें से नकसी एक म़ें सम क्रमाोंनकत तारीि म़ें 

पैदा हुआ नजसम़ें 31 नदि ििी ों िैं। जन व्यखि  नदल्ली से सोंबोंनधत िै,B के 

बाद पैदा हुआ | A माचष म़ें पैदा ििी ों िनता िै और जन िैदराबाद से सोंबोंनधत 

व्यखि िै उससे बड़ा िै। 

 

127.  निम्ननिखित म़ें से कौि सा जनडे़ नदसोंबर म़ें पैदा हुए िै? 
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(1) G, B   (2) H, F 

(3) E, C   (4) D, H 

(5) A, B 

 

128. B और नदल्ली से सोंबोंनधत व्यखि के बीच नकतिे िनग पैदा हुए िैं? 

(1) कनई ििी ों  (2) एक 

(3) दन   (4) तीि 

(5) तीि से अनधक 

 

129.  निम्ननिखित पाोंच म़ें से चार एक निनित तरीके से समाि िैं और इसनिए 

एक समूि बिाते िैं। इिम़ें से कौि उस समूि से सोंबोंनधत ििी ों िै? 

(1) वि जन चेन्नई से सोंबोंनधत िै (2) B 

(3) वि जन कनचीि से सोंबोंनधत िै (4) A 

(5) C 

 

130.  यनद 'E' 'पुणे' से सोंबोंनधत िै और 'F' एक निनित तरीके से 'कनचीि' से 

सोंबोंनधत िै। नफर 'H' निम्ननिखित म़ें से नकससे सोंबोंनधत िै? 

(1) पटिा   (2) िैदराबाद 

(3) मुोंबई   (4) नदल्ली 

(5) बैंगिनर 

 

131.  निम्ननिखित शिरनों म़ें से C नकस शिर से सोंबोंनधत िै? 

(1) पटिा   (2) बैंगिनर 

(3) मुोंबई   (4) िैदराबाद 

(5) निधाषररत ििी ों नकया जा सकता िै 

 

निरे्दश (132-133) िीचे नदए गए प्रते्यक प्रश् म़ें प्रश् और उसके बाद दन कथि I और 

II िैं। आपकन यि तय करिा िनगा नक कथि म़ें प्रदाि नकया गया डेटा 

प्रश् का उत्तर देिे के निए पयाषप्त िै या ििी ों। प्रश् और दनिनों कथि पढ़ें 

और जवाब द़ें। 

 

132.  पाोंच व्यखि A, B, C, D और E अिग- अिग िोंबाई के िै। उिम़ें से कौि 

सबसे िोंबा व्यखि िै? 

कथि: I. A, B और C से छनटा िै|C, D से छनटा िै। 

II. D की तुििा म़ें केवि दन िनग िमे्ब िैं| B सबसे िोंबा व्यखि ििी ों िै. 

(1) अकेिे कथि I म़ें डेटा प्रश् का उत्तर देिे के निए पयाषप्त िै, जबनक 

अकेिे कथि II म़ें डेटा प्रश् का उत्तर देिे के निए पयाषप्त ििी ों िै। 

(2) अकेिे कथि II म़ें डेटा प्रश् का उत्तर देिे के निए पयाषप्त िै, जबनक 

अकेिे कथि I म़ें डेटा प्रश् का उत्तर देिे के निए पयाषप्त ििी ों िै। 

(3) या तन अकेिे कथि I म़ें डेटा या अकेिे कथि II म़ें डेटा प्रश् का उत्तर 

देिे के निए पयाषप्त िैं।  

(4) कथि I और कथि II दनिनों म़ें डेटा प्रश् का उत्तर देिे के निए पयाषप्त 

ििी ों िैं। 

(5) कथि I और कथि II दनिनों म़ें डेटा प्रश् का उत्तर देिे के निए पयाषप्त िैं। 

 

133.  पाोंच दनस्त P, Q, R, S और T उत्तर की ओर मुि नकए एक रैखिक पोंखि 

म़ें बैठे िैं। उिम़ें से कौि सा S का तत्काि पड़नसी िै? 

कथि: I. एक व्यखि P और Q के बीच बैठता िै। दन िनग Q और T के 

बीच बैठते िैं। R S के दाईों ओर दूसरे स्थाि पर बैठता िै। 

II. R और S तत्काि पड़नसी िैं। P T के दाईों ओर दूसरे स्थाि पर बैठता 

िै|T और S, तत्काि पड़ननस ििी ों िैं| 

(1) अकेिे कथि I म़ें डेटा प्रश् का उत्तर देिे के निए पयाषप्त िै, जबनक 

अकेिे कथि II म़ें डेटा प्रश् का उत्तर देिे के निए पयाषप्त ििी ों िै। 

(2) अकेिे कथि II म़ें डेटा प्रश् का उत्तर देिे के निए पयाषप्त िै, जबनक 

अकेिे कथि I म़ें डेटा प्रश् का उत्तर देिे के निए पयाषप्त ििी ों िै। 

(3) या तन अकेिे कथि I म़ें डेटा या अकेिे कथि II म़ें डेटा प्रश् का उत्तर 

देिे के निए पयाषप्त िैं।  

(4) कथि I और कथि II दनिनों म़ें डेटा प्रश् का उत्तर देिे के निए पयाषप्त 

ििी ों िैं। 

(5) कथि I और कथि II दनिनों म़ें डेटा प्रश् का उत्तर देिे के निए पयाषप्त 

िैं। 

 

निरे्दश (134-135) दी गई जािकारी का ध्यािपूवषक अध्ययि कऱें  और निम्ननिखित 

प्रश्नों का उत्तर द़ें- 

 

'A $ B' का अथष िै 'A, B का भाई िै' 

'A% B' का अथष िै 'A, B का नपता िै' 

'A × B' का अथष िै 'A, B की पत्नी िै' 

'A - B' का अथष िै 'A, B की बिि िै' 

'A & B' का अथष िै 'A, B की माों िै' 

 

134.  नदए गए सोंबोंध म़ें, D%G – H&L$E×C%U, यनद X L से नववानित िै, तन 

X, C से कैसे सोंबोंनधत िै?  

(1) जीजाजी  (2) भाभी 

(3) बिि    

(4) सोंबोंध स्थानपत ििी ों नकया जा सकता िै 

(5) नपताजी 

 

135.  नदए गए सोंबोंध ' W- Z$ H %G ×Q %O' म़ें, यनद A का नववाि W से 

हुआ िै और P, A का बेटा िै, तन G कैसे P से सोंबोंनधत िै?  

(1) बिि   (2) भतीजे 

(3) चचेरे भाई  (4) भतीजी 

(5) निधाषररत ििी ों नकया जा सकता िै 

 

136.  एक आदमी का पररचय करते हुए गनपाि िे किा, "उसकी पत्नी मेरी पत्नी 

 की एकमात्र बेटी िै।" गनपाि उस आदमी से कैसे सोंबोंनधत िै? 

 (1) बेटा   (2) दादा  

 (3) ससुर   (4) नपता  

 (5) निधाषररत ििी ों नकया जा सकता        

 

निरे्दश (137-138) नदए गए प्रश्नों के उत्तर देिे के निए निम्ननिखित जािकारी 

 सावधािी से पढ़ें- 

 

 P × Q का मतिब िै P, Q का नपता िै 

 P ÷ Q का मतिब िै P, Q की बेटी िै 

 P + Q का मतिब िै P, Q की बिि िै 

 P – Q का मतिब िै P, Q का पनत िै 

 

137.  मिी ÷ निथ्ा × िावी – पावी म़ें िावी, मिी से कैसे सोंबोंनधत िै? 

 (1) भाई   (2) दामाद  

 (3) नपता   (4) बेटा  

 (5) बेटी 

 

138.   गीता × तिु + सूयाष ÷ मिी म़ें, मिी, गीता से कैसे सोंबोंनधत िै? 

 (1) मााँ   (2) बिि  

 (3) पत्नी   (4) बेटी  

 (5) भाई 

 

139.  5 दनस्त A, B, C, D और E एक दूसरे के करीब खस्थत िै, A, B के पनिम 

 म़ें िै, C, A के दनक्षण की ओर िै, E, B के उत्तर म़ें िै और D, E के पूवष म़ें 

 िै। तन C, D के सोंबोंध म़ें नकस नदशा म़ें िै? 

 (1) दनक्षण-पूवष  (2) दनक्षण - पनिम  

 (3) उत्तर - पनिम  (4) उत्तर - पूवष  

 (5) निधाषररत ििी ों नकया जा सकता 

 

140.  यनद "COMPUTER" शब्द के सभी व्योंजिनों कन नपछिे अक्षर से बदि 

 नदया गया िै और सभी स्वरनों कन अगिे अक्षर म़ें बदि नदया गया िै और 

 िए शब्द कन वणषमािा क्रम म़ें दाएों  से बाएों  पुि: व्यवखस्थत नकया गया िै, 

 तन पुिगषठि के बाद अोंगे्रजी वणषमािा शृ्ोंििा म़ें बाएों  छनर से चौथे अक्षर 

 और दाएों  छनर से तीसरे अक्षर के बीच नकतिे अक्षर िैं? 

 (1) छि   (2) तीि  

 (3) पााँच   (4) दन  

 (5) एक 

 

निरे्दश (141-145) निम्ननिखित जािकारी सावधािी से पढ़ें  और िीचे नदए गए प्रश्नों 

 का उत्तर द़ें- 

  

 आठ व्यखि P, Q, R, S, T, U, V और W क़ें द्र की ओर मुि करके एक 

 गनिाकार मेज म़ें बैठे िैं। U और T के बीच केवि एक व्यखि बैठता िै। 

 P, T के दाईों ओर तीसरे  स्थाि पर बैठता िै। Q, P का निकटतम पड़नसी 

 ििी ों िै और V के दाईों ओर दूसरे स्थाि पर बैठता िै। R, V के नवपरीत 

 बैठता िै। W, V का निकटतम पड़नसी ििी ों िै। 

 

141.  S के तत्काि बाईों ओर कौि बैठता िै? 

 (1) P   (2) U  

 (3) R   (4) Q  

 (5) इिम़ें से कनई ििी ों 

 

142.  P के नवपरीत बैठिे वािे व्यखि के बाईों ओर दूसरा कौि बैठता िै? 

 (1) Q   (2) U  

 (3) V   (4) R  

 (5) इिम़ें से कनई ििी ों 
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143.  उिम़ें से कौि T का निकटतम पड़नसी िैं? 

 (1) P, R   (2) P, V  

 (3) S, W   (4) R, Q  

 (5) नदये गए नवकल्प म़ें से कनई ििी ों 

 

144. Q के सोंबोंध म़ें W की खस्थनत क्या िै? 

 (1) बाईों ओर दूसरा  (2) तत्काि बाएों   

 (3) दाएों  ओर तीसरा  (4) दाईों ओर दूसरा 

 (5) इिम़ें से कनई ििी ों 

 

145.  निम्ननिखित पाोंच म़ें से चार समूि बिािे के निए इस निनित तरीके से 

 समाि िैं, इिम़ें से कौि सा समूि से सोंबोंनधत ििी ों िै? 

 (1) Q, R   (2) S, U  

 (3) P, V   (4) V, Q  

 (5) W, P 

 

निरे्दश (146-150) निम्ननिखित जािकारी सावधािी से पढ़ें  और िीचे नदए गए प्रश्नों 

 का उत्तर द़ें- 

 

 सात िनग T, L, F, D, M, S और P एक िी इमारत के नवनभन्न मोंनजि म़ें 

 रिते िैं। उिम़ें से प्रते्यक का एक नवनशष्ट् नवर्षय म़ें नवशेर्षज्ञता िै जैसे नक 

 SQL, HTML, English, VB.net, PPT, Physics और Accounting 

 िेनकि जरूरी ििी ों की उसी क्रम म़ें िै। ग्राउोंड फ्लनर की सोंख्या 1 िै; 

 इसके तत्काि ऊपर की मोंनजि की सोंख्या 2 िै; और इसी प्रकार शीर्षष-

 मोंनजि की सोंख्या 7 िै। 

 M English म़ें नवशेर्षज्ञ ििी ों िै। वि जन PPT म़ें नवशेर्षज्ञ िै, मोंनजि सोंख्या 

 3 म़ें रिता िै। F मोंनजि सोंख्या 5 म़ें रिता िै। S, SQL म़ें नवशेर्षज्ञ िै। 

 Physics नवशेर्षज्ञ, Accounting नवशेर्षज्ञ के मोंनजि से तत्काि ऊपर 

 रिता िै। P नकसी भी सम क्रमाोंनकत मोंनजि म़ें ििी ों रिता िै। D या तन 

 HTML या VB.net पसोंद करता िै। D, P के िीचे दन मोंनजिनों के अोंतर म़ें 

 रिता िै। L, T के मोंनजि के िीचे नकसी मोंनजि म़ें रिता िै। P Physics या 

 HTML ििी ों जािता िै जबनक F, Accounting ििी ों जािता िै। जन 

 English नवशेर्षज्ञ िै, वि T की मोंनजि से ऊपर दन मोंनजिनों के अोंतर म़ें 

 रिता िै। 

 

146.  Accounting म़ें नवशेर्षज्ञ कौि िै? 

 (1) T   (2) L  

 (3) M   (4) P  

 (5) निधाषररत ििी ों नकया जा सकता 

 

147.  उस मोंनजि के तत्काि ऊपर कौि रि रिा िै नजसम़ें PPT नवशेर्षज्ञ रि 

 रिा िै? 

 (1) D   (2) English नवशेर्षज्ञ  

 (3) HTML नवशेर्षज्ञ  (4) F  

 (5) दनिनों (1) और (3) 

 

148.  P नकस नवर्षय का नवशेर्षज्ञ िै? 

 (1) V.B.net  (2) English  

 (3) HTML   (4) Physics  

 (5) Accounting 

 

149.   उि मोंनजिनों के बीच नकतिी मोंनजि़ें िैं नजिम़ें S और Physics नवशेर्षज्ञ रि 

 रिे िैं? 

 (1) पााँच   (2) तीि  

 (3) चार   (4) दन  

 (5) एक 

 

150.   English नवशेर्षज्ञ नकस मोंनजि पर रिता िै? 

 (1) 6 वी ों मोंनजि  (2) 5 वी ों मोंनजि  

 (3) चौथी मोंनजि  (4) 7 वी ों मोंनजि  

 (5) इिम़ें से कनई ििी ों 

 

Space for rough work 
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English Language 
Ans.1(2) By ensuring that pipes and taps don’t leak so 

that water remains free of contamination. 
Ans.2(5) All of the above 
Ans.3(4)         All except 2 
Ans.4(3) They have focused on changing process so that 

least possible quantity of water is brought to 
use. 

Ans.5(4)       There may be abundant water available but one 
should have money to afford it   

Ans.6(2) In ancient times, the rainfall was not sufficient 
near deserts and therefore people had scarcity 
of water. 

Ans.7(5) Predictable 
For other options: 
Dormant (adj)- inactive 
Vibrant (adj)- alive 

Ans.8(4) 
Ans.9(3)    Purification 

For other options: 
Transmission (n)- transportation 

Ans.10(1)     Overlooked 
For other options: 
Substantiated (v)- confirmed 

Ans.11(3) Option C is grammatically correct. 
Ans.12(4) Option D is grammatically correct. 
Ans.13(5) Usage done in given question is grammatically 

correct. 
Ans.14(5) Usage done in given sentence is grammatically 

correct. 
Ans.15(2) Option B is grammatically correct. 
Ans.16(4) ‘known for’ is correct usage. 
Ans.17(5) The given sentence is correct. 
Ans.18(3) ‘barely’ is correct usage. 
Ans.19(3) ‘exemplified’ is correct usage. 
Ans.20(2) ‘reported a’ is correct usage. 
Ans.21(5)  Building 

For other options: 
Deteriorating (v)- decaying 
Segmenting (v)- segregating 

Ans.22(1)    Alleviation 
For other options: 
Bifurcation (n)- division 
Publicizing (v)- making known 

Ans.23(4)  achieve 
Ans.24(2)  Stay 

For other options: 
Anticipate (v)- expect 

Ans.25(3)  
Ans.26(4)  Boost 

For other options: 
Fright (n)- apprehension 
Vexation (n)- annoyance 

Ans.27(1) 
Ans.28(5)  Paralyses 

For other options: 
Revolutionizes (v)- transforms 
Hones (v)- makes better 

Ans.29(3)  Revival 
For other options: 
Suppression (n)- abolishment 
Deviation (n)- change 
Mourning (n)- sadness 

Ans.30(2)  Generation 
   For other options: 
  Replacement (n)- substitute 
  Agenda (n)- program 
Ans.31(1) According to the sentence “deception” will be 

 used as it means “ ”.cheat, fraud, bluff etc  

Ans.32(2) According to the sentence “constituency” will be 
 used as it means “a body of voters in a specified 

 area who elect a representative to a legislative 
 body.” 
Ans.33(3) According to the sentence “aggregated” will be 

 used as it means “ ”.d, acervuline etcagglomerate  

Ans.34(4)  According to the sentence “precludes” will be 

 used as it means “stop, clog, prevent, inhibit, 

 fend etc”. 

Ans.35(5) No change required  
Ans.36(1) According to the sentence “coalition” will be 

 used as it means “ ganization, league,union, or  

 syndicate, club etc”. 

Ans.37(2) According to the sentence “demonstrated” will 

 be used as it means “certified, proved, 

 established, vouched etc”. 

Ans.38(3) According to the sentence “legitimacy” will be 

 used as it means “ , legality, vigor, vigourvalidity  

 etc”. 

Ans.39(4) According to the sentence “probably” will be 

 used as it means “perhaps, maybe, presumably, 

 perchance, obviously etc”. 

Ans.40(5) No change required  
Ans.41(5) According to the passage Bishkek does India 
 see as a Ray of Hope to deal with its 
 neighboring countries. 
Ans.42(1) inducted means Introduce. 
Ans.43(3) In 2017 India and Pakistan were given the 
 membership of SCO. 
Ans.44(2) The statement that, ‘SCO members are aiming 
 at eliminating from the world’ is not true. 
Ans.45(3) RIVEN = divide, fray, rend  
 so apposite word will be united. 
Ans.46(4) IMPASSE = deadlock, dilemma, gridlock,  
 Predicament 
Ans.47(3)  Russia is not a member of SCO. 
Ans.48(5) contestations = argument, contention, contest  
Ans.49(5)  “curbing” = constrain, contain, control, hamper 
 So, encourage is opposite of curbing. 
Ans.50(1) Proximity means closeness. So, antonyms of 
 proximity is distance.  

Quantitative Aptitude 

Ans.51(3) 2007 में ह ोंडा द्वारा बेची गई द  पहहया वाहन की सोंख्या 

 = 400 – (43×600/100) 

 = 400 – 258 

 = 142 

 2008 में ह ोंडा द्वारा बेची गई द  पहहया वाहन की सोंख्या  

= 142 + 200 = 342 

 2008 में ह ोंडा द्वारा उत्पाहदत द  पहहया वाहन की सोंख्या 

 = 342×(100/40) 

 = 855 द  पहहया वाहन 

Ans.52(2) 2009 में हीर  द्वारा बेचे गए द  पहहया वाहन की सोंख्या 

 = 480 × (15/100) = 72 

 2010 में हीर  द्वारा बेचे गए द  पहहया वाहन की सोंख्या 

 = 72 × (9/8) = 81 

 आवश्यक प्रहतशत = 81 × (100/680) = 12% 

Ans.53(3) 2007 में बेचे गए द  पहहया वाहन की सोंख्या: 

 x×(15/100) + (x+200)×(40/100)= 630 

 15x/100 + 40x/100 + 80= 630 

 (15x+ 40x)/100= 630- 80 

 55x= 550×100 

 x= 1000 द  पहहया वाहन 

 इसहिए, 

 2009 में बेचे गए द  पहहया वाहन की सोंख्या 

 = (1000+200)×(40/100) 

 = 480 द  पहहया वाहन 

Ans.54(4) 2010 में ह ोंडा द्वारा बेचे गए द  पहहया वाहन की सोंख्या 

 = 900×30/100 

 = 270 द  पहहया वाहन 
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 2007 में ह ोंडा द्वारा बेचे गए द  पहहया वाहन की सोंख्या 

 = 270×110/100 

 = 297 द  पहहया वाहन 

 2008 में ह ोंडा द्वारा बेचे गए द  पहहया वाहन की सोंख्या 

 = 297×8/9 

 = 264 द  पहहया वाहन 

 2008 में ह ोंडा द्वारा उत्पाहदत द  पहहया वाहन की सोंख्या 

 = 264×100/40 

 = 660 द  पहहया वाहन 

Ans.55(2)  कुि उत्पाहदत द  पहहया वाहन = 200 × 3 = 600 

 2008 में हीर  द्वारा बेचने वािे द  पहहया वाहन की सोंख्या 

 = 600- 450% 450 - 600% 43% 

 = 600 - 270 - 258 

 = 72 

 2008 में हनहमित द  पहहया वाहन = 72 × 100/20 

 = 360 

 आवश्यक प्रहतशत = 360 × 100/450 

 = 80% 

Ans.56(1)  (36/100)×420 – (56/100)×350 = x – 112 – 3025 

 151.2 – 196 + 112 + 3025 = x 

 x = 3092.2 

Ans.57(4)  (53/3)×180 + (1/4)× 480 = x 

 3180 + 120 = x 

 x = 3300 

Ans.58(3)  (9801/121) × 6.5 = (x/6) 

 81 × 6.5 × 6 = x 

 x = 3159 

Ans.59(2) 56 × 12 – 48 × 896 ÷ 112 = x 

 672 – 384 = x 

 x = 288 

Ans.60(3)  (8/3) × (11/3) ×(x/11) = (8/3) ×(7/5)×(6/7) 

 (x/3) = (6/5) 

 x = 18/5 

 x= 3.6 

Ans.61(2) हम जानते हैं हक, 

 वृत्त का के्षत्रफि = πd2 /4 

 जहााँ, d = वृत्त का व्यास 

 ⇒ a = πc2 /4 

 इसके अिावा, वृत्त की पररहि = πd 

 ⇒ b = πc 

 a/bc = (πc2 /4)/πc2 = 1 : 4 

Ans.62(4) 34198 में इकाई अोंक एक है क् ोंहक एक का घाताोंक हमेशा 1 ही 

ह ता है 

 उसी प्रकार 21159  में भी इसकी इकाई अोंक 1 है 

 45100   में इकाई अोंक 5 है क् ोंहक पाोंच का घाताोंक हकसी भी 

सोंख्या का हमेशा 5 ही ह ता है 

 उसी प्रकार 10535  में भी इसकी इकाई अोंक 5 है 

 ∴ सोंख्याओों के इकाई अोंक ों क  ज ड़ने पर, हमें हमिता हैं 

 = 1 + 1 – 5 + 5 – 4 + 9 

 = 7 

Ans.63(2) माना हक वसु्त का अोंहकत मूल्य x रुपये है| 

 वसु्त का हवक्रय मूल्य = x – (x का 15%) 

 ⇒ 255 = x – 0.15x 

 ⇒ x = 255/0.85 = 300 रुपये 

 ∴ वसु्त का सूची मूल्य = 300 रुपये 

Ans.64(2) माना हक परीक्षा में उपस्थित द  छात्र A और B हैं। 

 उनमें से एक ने दुसरे से 19 अोंक अहिक प्राप्त हकये और उसके 

अोंक द न ों के अोंक ों के य ग के 60% िे। 

 (A + A + 19) का 60% = A + 19 

 0.6 × (2A + 19) = A + 19 

 1.2A + 11.4 = A + 19 

 0.2A = 7.6 

 A = 38 

 B = A + 19 = 57 

 इसहिए उनके द्वारा प्राप्त हकये गये अोंक 57 और 38 हैं। 

Ans.65(5) ट्र ेन द्वारा तय दूरी = गहत × समय 

 ⇒ दूरी = 90 × 9 = 810 हकमी.                --- (1) 

 दूरी का दुगुना = 810 × 2 = 1620 हकमी. --- (2) 

 समय का आिा = 9/2 = 4.5 घोंटे्---(3) 

 दुगुनी दूरी क  आिे समय में तय करने के हिए ट्र ेन की गहत = 

1620/4.5 = 360 हकमी./घोंट्ा 

 इस प्रकार, ट्र ेन की आवश्यक गहत 360 हकमी./घोंट्ा है, ज  हक, 

इनमें से क ई नही हवकल्प है| 

Ans.66(2) प्रहतमान है, + (86×1), + (86×2), + (86×3), + (86×4).... 

Ans.67(4) प्रहतमान है , +(1×4), +(2×8),+(3×12), +(4×16).... 

Ans.68(4) प्रहतमान है , – 66, – 55, – 44, – 33, – 22 

Ans.69(1) प्रहतमान है , ×1 + 22, ×2 + 32, ×3 + 42, ×4 + 52.... 

Ans.70(2) अोंतर का अोंतर है, 7, 14, 21, 28.... 

Ans.(71-76) क्लाकि हविे: 

 यूजी स्नातक के हिए आवेदन की गई महहिाओों की सोंख्या = 100 

= कुि महहिाओों की 25% 

 कुि महहिाएों  = (100/25)×100 =400 

 यूजी स्नातक के हिए आवेदन की गई पुरुष ों की कुि सोंख्या  

= 550-100 = 450 

 यूजी स्नातक के हिए आवेदन हकए गए पुरुष ों की सोंख्या  

= कुि पुरुष ों का 75% 

 450 = 75% कुि पुरुष ों का 

 (450/75)×100 = 600 

 (i.e) पुरुष ों की कुि सोंख्या =600 

 हसरु: 

 कुि पुरुष = 2 × क्लाकि हविे में कुि पुरुष = 2 × 600 = 1200 

 कुि छात्र = (1200/3)×5 = 2000 

 कुि महहिाएों  = (2000) × 2/5 = 800 

 यूजी स्नातक के हिए आवेदन की गई पुरुष ों की कुि सोंख्या  

= 1200/2 =600 

 यूजी स्नातक के हिए आवेदन की गई महहिाओों की सोंख्या  

= 800/2 =400 

  
Ans.71(2) आवश्यक प्रहतशत = (400/450)×100 

 =88.89% 

Ans.72(3) आवश्यक अनुपात = 300: 600 =1: 2 

Ans.73(4) आवश्यक अोंतर = 2000 – 1000 = 1000 

Ans.74(5) आवश्यक प्रहतशत = [(800-600)/800] × 100 

 = (200/800)×100 

 =25% 

Ans.75(3) आवश्यक कुि = 150+300+600+400 = 1450 

Ans.76(1) आवश्यक अनुपात = (150+600): (100+400) 

 = 750: 500 

 = 3: 2 

Ans.77(2) माना, A = x हदन          B = x+10 हदन 

 A+B = (1/x)+1/(x+10) = 1/9(3/8) 

 1/x+ 1/(x+10) = 8/75 

 (x+x+10)/(x2+10x) = 8/75 

 (2x+10)×75 = 8(x2+10x) 

 75x+375 = 4x2+40x 

 4x2-35x-375 =0 

 उपयुिक्त समीकरण क  सरि बनाने के बाद, हमें हमिता है 

 x= 60/4 , -25/4 

 x= 15 , -25/4 (–ve मूल्य क  हट्ा दें ) 

 x= 15 हदन 

 A = 15 हदन और B = 25 हदन 

 A और B के दक्षता अनुपात = 1/15: 1/25 = 5:3 

Ans.78(2) आम की 50 पेहट्य ों का िागत मूल्य (C.P.) = 20,000 रूपये 

 व्यस्क्त ने 10 पेट्ी सोंतरे ख  हदए| 

 ⇒ 40 पेट्ी सोंतरे बचे हैं| 

 कुि िाभ = 20000 का 25% = 5000 रूपये 

 ⇒ सोंतरे की बची हुई पेहट्य ों का हवक्रय मूल्य (S.P.) = 20000 + 

5000 = 25000 रुपये 

 ⇒ प्रते्यक बची हुई पेट्ी का हवक्रय मूल्य (S.P.) = 25000/40  

= 625 रुपये 

Ans.79(3) कन्ना और कृष्णा का िाभ का अनुपात = 18000×12: 24000× x 

= 3: 1 
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 (18000×12)/(24000×x) = 3/1 

 x =3 महीने 

 कन्ना अकेिे व्यवसाय चिाते हैं  ((i.e)12-3=9) 9महीने 

Ans.80(5) C का एक हदन का काम है = 1/8 – 1/24 -1/36 = (9-3-2)/72 

 = 4/72 

 = 1/18 

 माना की पूरे काम क  पूरा करने के हिए हदन की सोंख्या=X ह    

 हदया हुआ, 

 x/24 + (x-3)/36 +(x-3)/18 =1 

 (3x+2x-6+4x-12) =72 

 9x -18 =72 

 9x =90 

 => x=10 हदन 

Ans.81(4) आवश्यक अोंतर = (48+56+80+96+125)  

 (72+60+45+120+54) 

 = 405 – 351 = 54 

Ans.82(3) आवश्यक कुि = 120× (125/100) =150 

Ans.83(4) आवश्यक अनुपात = (48+72+80+45+96+120): 

 (56+60+80+45+96+120) 

 = 461: 457 

Ans.84(1) आवश्यक प्रहतशत =[(72+60+45)/(96+125)]×100 

 = [177/221]×100 

 = 80% 

Ans.85(5) आवश्यक प्रहतशत  

 = [(48+72+56+60)/(80+45+96+120)]×100 

 = [236/341]×100 

 = 69.21% 

Ans.(86-90)  माना हक सभी हमठाईय ों की मात्रा का अनुपात 10x: 9x: 6x है। 

 बदुशा का कुि िागत मूल्य = 8640 

 प्रहत हकि  बदुशा का िागत मूल्य = 360 

 बदुशा की मात्रा =8640/360 = 24 

 (याहन) 6x = 24-----à x=4 

 िड्डू की मात्रा = 10x = 10×4 = 40 

 जामुन की मात्रा = 9x = 9×4 =36 

 बदुशा की िागत मूल्य =360    िाभ%= 25% 

 हवक्रय मूल्य =(100+िाभ%)/100 × िागत मूल्य 

 इसहिए, हवक्रय मूल्य = (100+25)/100 × 360 = 450 

 बदुशा का हवक्रय मूल्य = 450 

 10% की छूट् पर बदुशा क  बेचकर, हमें हनम्नानुसार हचहित मूल्य 

 (MP) हमिता है 

 M.P = (100/(100-छूट्%))×S.P = (100/90)×450 = 500 

 इसहिए, बदुशा का M.P = 500 

 SP = हवक्रय मूल्य, CP= क्रय मूल्य 

 चूोंहक, S.P>C.P, 90 रुपये का िाभ है।      

    [िाभ =S.P-C.P] 

 जामुन  का हचहित मूल्य = 600 

 जामुन बेचने पर, जॉन ने बदुशा से 15 रुपये कम िाभ अहजित 

 हकया 

 त , जामुन  का िाभ = बदुशा के िाभ -15 = 90-15 = 75 

 20% छूट् पर जामुन  बेचकर,, 

 S.P=((100-छूट्%)/100)×M.P= (80/100)×600=480 

 त , जामुन का S.P =480 

 त  C.P=S.P-िाभ=480-75=405 

 (याहन) जामुन का क्रय मूल्य = 405 

 जॉन 47220 रुपये में सभी मीठाई खरीदता है 

 त  सभी हमठाई का कुि क्रय मूल्य= 47220 

 (िड्डू का क्रय मूल्य× 40) + (405×36) + (360×24)  

 = 47220 

 (िड्डू का क्रय मूल्य× 40) = 24000 

 िड्डू का क्रय मूल्य= 600 

 जॉन ने कुि 3615 रुपये का िाभ अहजित हकया। 

 (िड्डू का िाभ × 40) + (75×36) + (90×24) = 7460 

 िड्डू का िाभ×40 = 2600 

 िड्डू का िाभ = 65 

 िड्डू का S.P = C.P+ िाभ = 660+65 = 665 

 िड्डू प्रहत हकि  िागत मूल्य से 40% अहिक हचहित हकया गया 

 िा। 

 M.P=(140/100)×600 = 840 

 िड्डू का M.P = 840 

 अोंततः , 

   
Ans.86(4) बदुशा का क्रय मूल्य=360 

 बदुशा का S.P =450 

 छूट् %=10 

 बदुशा का नया S.P ={(100-10)/100}×450=405 

 चूोंहक S.P>C.P, त  िाभ ह ता है। 

 इसहिए िाभ प्रहतशत =[(S.P-C.P)/C.P]×100 

 = [(405-360)/360]×100 

 = 12.5% 

Ans.87(2)  हमठाई की कुि मात्रा = 40+36+24=100 हकि  

Ans.88(2) SP = हवक्रय मूल्य, CP= क्रय मूल्य 

 जामुन का कुि क्रय मूल्य=36×405=14580 

 जामुन का कुि S.P =30×480=14400 

 चूोंहक C.P>S.P, त  हानी ह ती है। 

 इसहिए िाभ% = [(C.P-S.P)/C.P]×100 

 = [(14580-14400)/14580]×100=1.23% 

Ans.89(4) बदुशा का क्रय मूल्य=360 

 बदुशा का हचस्ित मूल्य  =500 

 अपेहक्षत प्रहतशत =[(500-360)/500]×100=28% 

Ans.90(1)  अपेहक्षत अनुपात = 600:230 = 60: 23 

Ans.91(1)  माना हक सही वजन 1 हकि  है। 

 माना की 1 ग्राम का क्रय मूल्य 1 रुपया है। 

 अब हवके्रता द्वारा खरीदी गई मात्रा=1200 ग्राम 

 और हवके्रता द्वारा बेची गई मात्रा=800 ग्राम 

 इसहिए, हमारे पास है, 800 ग्राम का हवक्रय मूल्य  

 = 1200 ग्राम का क्रय मूल्य 

 (याहन) 800 ग्राम का हवक्रय मूल्य = 1000 रुपये 

 त  800 ग्राम का क्रय मूल्य =(1000*800)/1200 

 = 667 रुपये 

 इस प्रकार 800 ग्राम बेचकर अहजित िाभ 

  = 1000-667 = 333 रुपये 

 इसहिए िाभ प्रहतशत =(333/667)×100 = 49.92% 

Ans.92(4)  बतिन में शेष दूि =60(1-6/60)2 

 = 60(1-1/10)2 

 = 48.6 िीट्र 

 इसहिए अपेहक्षत अनुपात =48.6: 60 

 = 81:100 

Ans.93(5)  माना हक आोंतररक सीमा की िोंबाई और चौड़ाई क्रमशः  x और y 

 है। 

 हदया गया है, बगीचे का के्षत्रफि =640 वगि मीट्र 

 (याहन) xy=640 वगि मीट्र ……………… (1) 

 अब बाहरी सीमा मागि की िोंबाई =x+6 

 और बाहरी सीमा मागि की चौड़ाई =y+6 

 इसहिए मागि सहहत बगीचे का के्षत्रफि =(x+6)(y+6)=916 

 (i.e.) xy+6x+6y+36=916…………………. (2) 

 (1) और (2) से, हमारे पास है 

 640+6x+6y+36=916 

 x+y=40 

 इसहिए बगीचे की पररहि =2(x+y)=80 मीट्र 

Ans.94(4) माना हक पोंप A प्रहत हदन 4x िीट्र भरता है। 

 त  पोंप B प्रहत हदन 5x िीट्र भर देगा और पोंप C प्रहत हदन 6x 

 िीट्र भर देगा। 

 इसके अिावा पोंप D प्रहत हदन 8x िीट्र भर देगा। 

 माना हक ट्ैंक की कुि क्षमता 15x िीट्र है। 

 त  ट्ैंक क  भरने के हिए A और B द्वारा हिया गया समय 

 =15x/(9x)=15/9 हदन 

 समान रूप से ट्ैंक क  भरने के हिए B और D द्वारा हिया गया 

 समय 

 = 15x/(13x)=15/13 हदन 

 इसहिए अपेहक्षत अनुपात =15/9: 15/13 

 = 13:9  

Ans.95(1) माना हक बैग का हवक्रय मूल्य 100% 

 छुट् देने के बाद, 

 हवक्रय मूल्य =100×(90/100)×(80/100)×(105/100) 

 = 75.6% 
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 इसहिए अपेहक्षत प्रहतशत =100-75.6=24.4%  

Ans.96(2)  450.64 + 1288.52 + 638.12 – 352.28 = (?)2 

 2025 = (?)2 

 45 =? 

Ans.97(5) 1
2

7
  + 9 

6

35
   – 8 

3

7
  = (?) 

 2 (6/35 -1/7) =? 

 2 (1/35) =?  

Ans.98(3) 7890.6+46550.54+452.54+885.46=?+5779.14 

 50000 =? 

Ans.99(2) (√648 ÷ 32) × (√225 ÷ 45) = ? ÷ 48 

 3/16 × (48) =? 

 9 =? 

Ans.100(1) 90% का 320 + 58% का 4200 = ?% का 7200 

 288 + 2436 = 72 ×? 

 2724/72 =? 

 227/6 =? 

Reasoning Aptitude 

Ans.101(2) स्पष्टीकरण: 

 English- ch 

 Novel- gl/bt 

 is- nm 

 Good- bt/gl 

 Get- ms 

 Prize- sr 

 Precious- qm 

Ans.(102-106) 

  
Ans.102(4) 
Ans.103(2) 
Ans.104(5) 
Ans.105(1) 
Ans.106(2) 
Ans.(107-111) 

  
Ans.107(3) 
Ans.108(2) 
Ans.109(4) 
Ans.110(2) 
Ans.111(1) 
 
 
 
 
 
 
 

Ans.(112-116) 

  
Ans.112(3) SN=√(242+62)≈ 25 मीट्र 
Ans.113(2) 
Ans.114(2) 
Ans.115(2) 

  
Ans.116(2) स्पष्टीकरण: 

 824362715975546 – 935273604864457(हवषम सोंख्या -1, 

सम सोंख्या +1) 

 शृ्ोंखिा क  बाएों  से दाएों  घट्ते क्रम में व्यवस्थित हकया जाता है – 

987766554443310 (शृ्ोंखिा के हबलु्कि बीच में आने वािे अोंक 

के बाईों ओर तीसरा है) 

Ans.(117-121) 

  
Ans.117(5) 
Ans.118(1) 
Ans.119(3) 
Ans.120(5) 
Ans.121(2) 
Ans.122(2) 

  
Ans.123(1) 

  
Ans.124(3) 

  
Ans.125(4) स्पष्टीकरण: 

 a) E=T =D≤M≥N-- असत्य 

 b) E>T ≥D =M≤N – असत्य 

 c) E>T<D =M ≤N-- असत्य 

 d) E<T =D =M ≤N --सत्य 

 e) E>T =D≤M>N-- असत्य 

Ans.126(2) स्पष्टीकरण: 

 a) O ≤ E > F = A ≥ W 

 b) W ≤ A > F = O ≥ E 

 c) A ≤ O > F = W ≥ E 

 d) E ≤ A < F = W ≥ O 
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 e) A ≤ E > F = W ≥ O 

Ans.(127-131) 

  
Ans.127(4) 
Ans.128(3)  
Ans.129(1) 
Ans.130(4) 
Ans.131(2) 

Ans.132(5) स्पष्टीकरण: 

 कथन: I 

 A B और C से छ ट्ा है|C D से छ ट्ा है। हमारे पास चार 

सोंभावनाएों  हैं, 

 (I) D>B>C>A, 

 (II) B>D>C>A, 

 (III) D>C>A>B, 

 (IV) D>C>B>A 

 कथन: II 

 D की तुिना में केवि द  ि ग िमे्ब हैं| B सबसे िोंबा व्यस्क्त नही ों 

है. इस प्रकार  हम हनष्कषि नही ों हनकाि सकते हैं हक सबसे िोंबा 

व्यस्क्त कौन है। िेहकन अगर हम द न ों किन I और किन II क  

ज ड़ते हैं त  हम हनष्कषि हनकाि सकते हैं हक समूह के बीच E 

सबसे िोंबा व्यस्क्त है. 

 मामिे 1 में दूसरी सोंभावना केवि दूसरे किन के हिए मान्य है। 

त  अोंहतम व्यवथिा है E>B>D>C>A 

Ans.133(4) स्पष्टीकरण: 

 कथन: I 

 एक व्यस्क्त P और Q के बीच बैठता है। द  ि ग Q और T के बीच 

बैठते हैं। R S के दाईों ओर दूसरे थिान पर बैठता है।. इस किन से 

हमें द  सोंभाहवत मामिे हमिते हैं. त  हम हनष्कषि नही ों हनकाि 

सकते हक S के तत्काि पड़ सी कौन है 

 
 कथन: II 

 R और S तत्काि पड़ सी हैं। P T के दाईों ओर दूसरे थिान पर 

बैठता है|T और S, तत्काि पड़ हस नही ों हैं|. इस किन से हम दी 

गई व्यवथिा प्राप्त कर सकते हैं। इसहिए केवि किन II प्रश्न का 

उत्तर देने के हिए पयािप्त है। 

  
Ans.134(4)  स्पष्टीकरण: हम X और C के बीच सोंबोंि थिाहपत नही ों कर सकते 

हैं. 

  
 

Ans.135(3) स्पष्टीकरण: 

  
Ans.136(2) 
Ans.137(1) 

  
Ans.138(3) 

  
Ans.139(2) 

  
Ans.140(2) हदया गया शब्द = “COMPUTER” 

 शब्द के अक्षर ों के आदान-प्रदान के बाद हमें हमिता है 

 =“BPLOVSFQ” 

 वणिमािा क्रम में शब्द के अक्षर ों क  दाएों  से बाएों  पुन: व्यवस्थित 

 करने के बाद हमें हमिता है: 

 नया शब्द= “VSQPOLFB”. 

 इसहिए, बाएों  छ र से चौिा अक्षर -> P 

 दाएों  छ र से तीसरा अक्षर -> L 

 इसहिए, ‘L’ & ‘P’ के बीच अक्षर -> 3 

 इसहिए, हवकल्प B सही हवकल्प है। 

Ans.(141-145) 

   
Ans.141(1) 
Ans.142(3) 
Ans.143(4) 
Ans.144(3) 
Ans.145(5) 
Ans.(146-150) 
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Ans.146(2) 
Ans.147(5) 
Ans.148(1)  
Ans.149(2) 
Ans.150(2) 
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